
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

5th April 2016, 02:00 AM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Which of the following person is an Indian economist currently serving as the 23rd Governor of the
Reserve Bank of India? / ोनĀोल्खत က्ঢ म७ ऺॕ कग़न ऺॊ भॊरतॎय अथ१षॊĀॎ शत१मॊन म७ भॊरतॎय ौरजश१ ब॰क कॕ ͙͚ श७
रॊĀपॊल कॕ ॺप म७ ऺॕशॊरत ऻॖ|

Dr. Manmohan Singh / डॗ.मनमख़ऻन ो ॠऺऻ

Dr. Duvvuri Subbarao / डॗ.दॏशॏरॎ  ॏऺကॊरॊश

Dr. Amartya Sen / डॗ.अमĀ१ ऺॕन

Dr. Raghuram Rajan / डॗ.रघॏरॊम रॊजन

Correct Answer :­Dr. Raghuram Rajan / डॗ.रघॏरॊम रॊजन 

2)

Question Stimulus :­

General Knowledge

Which of the following is the expansion of the word Sensex? / इनम७ ऺॕ षĀ  ७ऺऺॕস कॊ ोशĀॊौरक ॺप ভॊ ऻॖ?

Sensitive Index /  ॠऺशॕदॎ ोनद८ोषकॊ



Sensation Intent /  ॠऺशॕदनषॎल ঋयख़जन

State Exchange / रॊĀ आदॊन­ঋदॊन क७ ঈ

Sentex Extent /  ७ऺटॕস ोशĀॊर

Correct Answer :­Sensitive Index /  ॠऺशॕदॎ ोनद८ोषकॊ 

3)

Question Stimulus :­

General Knowledge

Which of the following is a popular name for the system of medicine with historical roots in the
Indian subcontinent? / ोनĀोल्खत म७ ऺॕ कग़न ऺॎ दशॊ ঋणॊलॎ भॊरतॎय उपमऻॊကॎप म७ ऐोतऻॊोऺक जीख़ ॠ कॕ ोलए ঋोऺĀ ऻॖ|

Rigveda / ऋगशॕद

Yajurveda / यजॏश८द

Atharvaveda / अथश८द

Ayurveda / आयॏश८द

Correct Answer :­Ayurveda / आयॏश८द 

4)

Question Stimulus :­

General Knowledge

Which of the following is NOT an example of non­renewable energy resource? / इनम७ ऺॕ कग़न गॖर­
नशॎकरणॎय उजॊ१  ॠऺऺॊधन कॊ उदऻॊरण नऻॎ ॠ ऻॖ?

Fossil Fuels / जॎशॊĀ ईॠधन



Fossil Fuels / जॎशॊĀ ईॠधन

Crude oil / कৡॊ तॕल

Nuclear fuel / परमॊणॏ ईॠधन

Solar Energy / ऺग़र उजॊ१

Correct Answer :­Solar Energy / ऺग़र उजॊ१ 

5)

Question Stimulus :­

General Knowledge

Which of the following lake is NOT located in Bhopal? / इनम७ ऺॕ कग़न ऺॎ झॎल भख़पॊल म७ ्Āथत नऻॎ ॠ ऻॖ?

Lower Lake / लख़अर झॎल

Moti lake / मख़तॎ झॎल

Sharangpani Lake / ঒ॠĀपॊनॎ झॎल

Tawa Reservoir / तशॊ जलॊषय

Correct Answer :­Tawa Reservoir / तशॊ जलॊषय 

6)

Question Stimulus :­

General Knowledge

The periodic table is a tabular arrangement of the chemical elements. Out of 118 elements in the
periodic table which elements exist naturally? / आशत१ ऺॊरणॎ रॊऺॊयोनक तကख़ॠ कॎ एक ऺॊरणॎबĀ ကशĀथॊ ऻॖ|आशत१



periodic table which elements exist naturally? / आशत१ ऺॊरणॎ रॊऺॊयोनक तကख़ॠ कॎ एक ऺॊरणॎबĀ ကशĀथॊ ऻॖ|आशत१
ऺरणॎ कॕ ͘͘͟ तကख़ॠ कॕ बॊद भॎ कग़न ऺॊ तက ঋॊक॑ोतक ॺप ऺॕ ोशĀमॊन ऻॖ?

First 92 / पऻलॊ ͙͠

First 94 / पऻलॊ ͛͠

Last 92 / अॠोतम ͙͠

Last 94 / अॠोतम ͛͠

Correct Answer :­First 94 / पऻलॊ ͛͠ 

7)

Question Stimulus :­

General Knowledge

Which of the following is the correct expansion of the word modem? / इनम७ ऺॕ कग़न ऺॊ षĀ मॗडॕम कॊ ऺऻॎ
ोशĀॊर ऻॖ?

Modern Electronic Machine / आधॏोनक इलॕঠ३ ख़ोनक यॠআ

Modulator­Demodulator / ကॐनॊोधक­अोधकॊोधक

Demodulation Machine / ोडमख़दॏलॕऺन यॠআ

Modern Modulation Machine / आधॏोनक ကॐनॊोधक यॠআ

Correct Answer :­Modulator­Demodulator / ကॐनॊोधक­अोधकॊोधक 

8)



Question Stimulus :­

General Knowledge

The number of river basins in Madhya Pradesh is: / मĀ ঋदॕष म७ नदॎ कॎ घॊोटयख़ ॠ कॎ ोकतनॎ  ॠऺূॊ ऻॖ:

8 / ͟

9 / ͠

10 / ͗͘

11 / ͘͘

Correct Answer :­10 / ͗͘ 

9)

Question Stimulus :­

General Knowledge

In 2016, Leonardo DiCaprio won the Academy Award for Best Actor for film The Revenant. In
addition to acting, DiCaprio is also a committed: / ͙͗͘͝ म७, ोलयख़नॊडॳ दॎकॕोঋकख़ न७ ोफĀ रॕशॕन७ट कॕ ोलए ऺश१঒ॕĀ
अोभनॕतॊ कॊ अकॊदमॎ पॏरĀॊर जॎतॊ थॊ |अोभनय कॕ अलॊशॊ, दॎकॕঋख़कख़ एक ঋोतबĀ____________ भॎ ऻ॰|

Environmentalist / पयॊ१शरणोशद्

Academician / ोष঴ॊोशद्

Soccer player / ऺॗऺर ोख़लॊीॎ

Film Editor / ोफĀ  ॠऺपॊदक

Correct Answer :­Environmentalist / पयॊ१शरणोशद् 



Correct Answer :­Environmentalist / पयॊ१शरणोशद् 

10)

Question Stimulus :­

General Knowledge

Dashavatara refers to the ten avatars of Vishnu. The list of Dashavatara varies across sects and
regions in India. Which of the following  regional deity is NOT considered as one of the avatars
from Dashavatara? / दषॊशतॊर ोशĀॏ कॕ दऺ अशतॊरख़ ॠ ऺॕ  ॠऺबॠोधत ऻॖ|दषॊशतॊर कॎ  ॐऺचॎ भॊरत म७ धम४ और ঴ॕআख़ ॠ कॕ आधॊर पर
बदलतॎ रऻतॎ ऻॖ|ोनĀोल्खत ঴ॕআॎय दॕशतॊ दषॊशतॊर कॕ अशतॊरख़ ॠ म७ ऺॕ एक नऻॎ ॠ मॊनॕ जॊतॕ ऻ॰|

Vithoba / ोशठख़बॊ

Jagannath / ज৅नॊथ

Balarama / बलरॊम

Naradmuni / नॊरदमॏनॎ

Correct Answer :­Naradmuni / नॊरदमॏनॎ 

11)

Question Stimulus :­

General Knowledge

What is the correct full form of SIM? / ोऺम(SIM) कॊ ऺऻॎ पॐरॊ नॊम ভॊ ऻॖ?

Subscriber Identity Module / ঁॊऻक पऻचॊन मॊपॊॠक (ऺबĀॊइबर आइड७ोटटॎ मॗĀॐल)

Subliminal Index Merchant / अचॕतन ोनद८ोषकॊ ကॊपॊरॎ

Smartphone Identification Machine / Āॊट१फख़न पऻचॊननॕ कॎ मषॎन
Samsung Intelligent Mobile / ऺॖम ॠऺग कॊ इॠटॕलॎज७ट मख़बॊइल



Samsung Intelligent Mobile / ऺॖम ॠऺग कॊ इॠटॕलॎज७ट मख़बॊइल

Correct Answer :­Subscriber Identity Module / ঁॊऻक पऻचॊन मॊपॊॠक (ऺबĀॊइबर आइड७ोटटॎ मॗĀॐल) 

12)

Question Stimulus :­

General Knowledge

The Indian Lunar Exploration Program is popularly known as: / भॊरतॎय चॊॠद अĀॕहण कॊय१ॿम कख़ ोकऺ ঋोऺĀ
कॊय१ॿम कॕ ॺप म७ भॎ जॊनॊ जॊतॊ ऻॖ:

Chandravahan program / चကशऻन कॊय१ॿम

Chandramukhi program / चကमॏखॎ कॊय१ॿम

Chandrakanta program / चကकॊॠतॊ कॊय१ॿम

Chandrayaan program / चॠঈयॊन कॊय१ॿम

Correct Answer :­Chandrayaan program / चॠঈयॊन कॊय१ॿम 

13)

Question Stimulus :­

General Knowledge

Which of the following dance form is NOT practiced in the state of Madhya Pradesh? / मĀ ঋदॕष रॊĀ म७
ोनĀोल्खत न॑Ā षॖलॎ म७ ऺॕ कग़न ঋचोलत नऻॎ ॠ ऻॖ?

Tertali / टॕरटलॎ

Charkula / चॊरकॏ लॊ



Jawara / जशॊरॊ

Garadi / गॊरदॎ

Correct Answer :­Garadi / गॊरदॎ 

14)

Question Stimulus :­

General Knowledge

Bhopal gas tragedy which occurred on the night of 2nd December, 1984 considered as one of the
world’s worst industrial disaster.  Pesticide plant of the following company was responsible for this
mishap. / भख़पॊल गॖऺ আॊऺदॎ दॏोनयॊ कॎ ऺबऺॕ बीॎ औĀख़ोगक दॏघ१टनॊ म७ ऺॕ एक कॕ ॺप म७ जॊनॎ जॊतॎ ऻॖ जख़ ͙ ोदऺĀर ͛͘͟͠ कॎ
रॊत म७ घोटत ॽआ थॊ| कॎटनॊषक बनॊनॕ शॊलॎ कग़न ऺॎ कॠ पनॎ इऺ दॏघ१टनॊ कॕ ोलए ोजĀॕदॊर थॎ |

Union Carbide India Limited (UCIL) / यॐोनयन कॊबॊ१इड इॠोडयॊ ोलोमटॕड(यॏऺॎआईएल)

Union Chemistry Indian Corp. (UCIC) / यॐोनयन कॕोमĀ३ॎ इॠोडयन कॊरपख़रॕषन(यॏऺॎआईएल)

Methyl Isocloride (MICC) / ोमथॊइल आइऺख़মख़रॊइड

Methyl Isocyanate (MIC) / ोमथॊइल आइऺख़ऺॊइनॕट

Correct Answer :­Union Carbide India Limited (UCIL) / यॐोनयन कॊबॊ१इड इॠोडयॊ ोलोमटॕड(यॏऺॎआईएल) 

15)

Question Stimulus :­

General Knowledge

34th National Game 2011 was held in: / ͙͗͘͘ म७ ͚͛ श७ रॊĀ३ ॎय खॕल कॊ आयख़जन ॽआ थॊ :



Bihar / ोबऻॊर म७

Delhi / ोदĀॎ म७

Jharkhand / झॊरखॠड म७

Madhya Pradesh / मĀ ঋदॕष म७

Correct Answer :­Jharkhand / झॊरखॠड म७ 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

‘जॐतॕ चॊटनॊ’ मॏऻॊशरॕ कॊ अथ१ ऻख़गॊ­

खॏषॊमद करनॊ

बॐट पॊोलष करनॊ

भटकतॕ ोफरनॊ

अोत तॏৢ मॊननॊ

Correct Answer :­खॏषॊमद करनॊ 

2)

Question Stimulus :­

Hindi

भॊरतॕĀदॏ  कॎ कम१ भॐोम ऻॖ­



भॊरतॕĀदॏ  कॎ कम१ भॐोम ऻॖ­

लखनऊ

पटनॊ

कॊषॎ

कलकĀॊ

Correct Answer :­कॊषॎ 

3)

Question Stimulus :­

Hindi

ॐऺरदॊऺ नॕ ोकऺऺॕ दॎ঴ॊ ঋॊĀ कॎ­

मॊधशॊचॊय१

षॠकरॊचॊय१

बĀभॊचॊय१

रॊमॊनॏजॊचॊय१

Correct Answer :­बĀभॊचॊय१ 

4)

Question Stimulus :­



Hindi

ोनĀोल्खत म७ ऺॕ ोभĀ षĀ कॊ चयन कॎोजए­

इက

ो ॠऺऻ

঍ॊऻमण

ॐऺय१

Correct Answer :­ो ॠऺऻ 

5)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ कॊ चयन कॎोजए­

ऻॕम नरॕष कख़ पॏĀक ोदयॊ

ऻॕम नरॕष कॎ पॏĀक दॕगॊ

ऻॕम नॕ नरॕष कख़ पॏĀक दॎ

ऻॕम नरॕष कॎ पॏĀक दॎ

Correct Answer :­ऻॕम नरॕष कॎ पॏĀक दॕगॊ 

6)



Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन  कॎोजए­

‘जख़ खॊनॊ मॏĀ म७ ोमलतॊ ऻख़’

भĀॊर

लॠगर

खॏरॊक

रॊषन

Correct Answer :­लॠगर 

7)

Question Stimulus :­

Hindi

‘चतॏरॊनन’ कॊ पयॊ१यशॊचॎ षĀ ऻख़गॊ­

঍Āॊ

इက

ोशĀॏ

दॕशतॊ

Correct Answer :­঍Āॊ 



8)

Question Stimulus :­

Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ कग़न षॏĀ षĀ ऻख़गॊ­

दॊमॎनॎ

दॊोमनॎ

दोमनॎ

दॊोमोन

Correct Answer :­दॊोमनॎ 

9)

Question Stimulus :­

Hindi

‘गॎतॊॠजोल’ ोकऺकॎ रचनॊ ऻॖ­

मऻॊदॕशॎ शमॊ१

ঋॕमचॠद

रशॎကनॊथ टॖगख़र

कĀण



Correct Answer :­रशॎကनॊथ टॖगख़र 

10)

Question Stimulus :­

Hindi

‘अतएश’ म७  ॠऺोध ऻख़गॎ­

गॏण  ॠऺोध

ကॠजन  ॠऺोध

यण  ॠऺोध

ोशऺग१  ॠऺोध

Correct Answer :­ोशऺग१  ॠऺोध 

11)

Question Stimulus :­

Hindi

‘मॊतॊ­ोपतॊ’ म७ ऺमॊऺ बतॊइए?

कम१धॊरय

बॽ঍ॎऻॎ

ကĀက

ोကगॏ



Correct Answer :­ကĀက 

12)

Question Stimulus :­

Hindi

‘ोगरॎष’ म७  ॠऺोध ोशৢॕद ऻख़गॊ­

ोगौर+ ईष   

ोगरॎ+ ईष

ोगौर+ इष

ोगर+ ईह

Correct Answer :­ोगौर+ ईष    

13)

Question Stimulus :­

Hindi

‘भॊरत दॏद१षॊ’ कॕ लॕखक कग़न ऻॖ­

जयषॠकर ঋऺॊद     

ऺॕठ गख़ोशĀदॊऺ

कॊोत१क ঋऺॊद खআॎ  

भॊरतॕĀदॏ  ऻौरĀက



Correct Answer :­भॊरतॕĀदॏ  ऻौरĀက 

14)

Question Stimulus :­

Hindi

‘नॎरऺ’ षĀ कॊ ोशलख़म षĀ ऻख़गॊ­

रऺॎलॊ

ऺरऺ

ोशरऺ

अरऺ

Correct Answer :­ऺरऺ 

15)

Question Stimulus :­

Hindi

‘लीकॊ+पन’ ऺॕ  बनॕ ोशकĀख़ॠ म७ ऺॕ ऺऻॎ ोशकĀ कख़ चॏोनए­

लीकॊपन

लीपन

लीकपन    

लीकपॊन



Correct Answer :­लीकपन     

Topic:­ G3_General English
1)

Question Stimulus :­

English

Identify the given sentence. 

Though he is new, he knows what to do.

Complex

Simple

Compound

Exclamatory

Correct Answer :­Complex 

2)

Question Stimulus :­

English

Complete the idiom: 

I can understand your situation very well. We are sailing in the same _______.

path

water



boat

cruise

Correct Answer :­boat 

3)

Question Stimulus :­

English

Identify the given sentence. 

How absolutely terrifying it is!

Exclamatory

Interrogative

Imperative

Declarative

Correct Answer :­Exclamatory 

4)

Question Stimulus :­

English

Identify the given sentence.

Could you please help me find this address?



Imperative

Interrogative

Declarative

Exclamatory

Correct Answer :­Interrogative 

5)

Question Stimulus :­

English

What is the antonym of: ordinary 

Common

Average

Uncommon

Regular

Correct Answer :­Uncommon 

6)

Question Stimulus :­

English

Which of the given words is spelt correctly? 



Mispeled

Misspelled

Misspeled

Misspeld

Correct Answer :­Misspelled 

7)

Question Stimulus :­

English

Find the odd word out: 

Hungry, tired, happy, friendly

Hungry

Tired

Happy 

Friendly

Correct Answer :­Friendly 

8)

Question Stimulus :­

English



Find the odd word out: 

Laptop, tab, radio, desktop

Laptop

Tab

Radio

Desktop

Correct Answer :­Radio 

9)

Question Stimulus :­

English

Find the odd word out: 

Porter, carer, bearer, coolie

Porter

Carer

Bearer

Coolie

Correct Answer :­Carer 

10)



Question Stimulus :­

English

Which of the given words is spelt correctly? 

Technique

Technic

Teqnique

Tecnique

Correct Answer :­Technique 

11)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’. 

The man (A) which works here (B) is from Rome (C).

(A) The man

(B) which works here

(C) is from Rome. 

No error

Correct Answer :­(B) which works here 



12)

Question Stimulus :­

English

Fill in the blank. 

This burger is just so good. I ___________ it!

am loving

loves

love

loved

Correct Answer :­love 

13)

Question Stimulus :­

English

What is the synonym of: afraid 

Brave

Scared

Bold

Courageous



Correct Answer :­Scared 

14)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’. 

When I (A) will come (B), I will call you (C).

(A) When I

(B) will come,

(C) I will call you

No error

Correct Answer :­(B) will come, 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

How much money should be invested with a bank paying interest @ 18% per annum, to earn ₹
1200 per month? / ͘͟%ঋोत शह१ Āॊज दॕनॕ शॊलॎ ब॰क म७ ঋोत शह१ ोकतनॊ पॖऺॊ ोनशॕष करनॊ चॊोऻए, तॊोक ͙͗͗͘ ॹ.ঋोतमॊऻ
कमॊयॊ जॊ ऺकॕ?

₹ 100,000 / ͗͗͘,͗͗͗



₹ 80,000 / ͗͟,͗͗͗

₹ 120,000 / ͙͗͘,͗͗͗

₹ 65,000 / ͜͝,͗͗͗

Correct Answer :­₹ 80,000 / ͗͟,͗͗͗ 

2)

Question Stimulus :­

Maths

The bi­quadratic equation 4x4 + 3x3 – 15x2 + 13x + 16 = 0 have four roots a, b, c and d. What is
the value of a x b x c x d?  / चतॏघ१तॎय ऺमॎकरण ͛x4 + ͚x3 –͘͜x2 + ͚͘x + ͘͝ = ͗ कॕ चॊर मॐल a,b,c और d ऻ॰| a x
b x c x d कॊ मॊन ভॊ ऻख़गॊ?

16 / ͘͝

– 4 / ­͛

– 16 / ­͘͝

4 / ͛

Correct Answer :­4 / ͛ 

3)

Question Stimulus :­

Maths

The LCM of two numbers X and Y is 12 times their HCF. The sum of HCF and LCM is 403. If X is 93,
what is the value of Y? / योद  दख़  ॠऺূॊ X और Y कॊ लघॏĀम ऺमĀĀशत१क(LCM) अपनॕ मऻĀम ऺमĀĀशत१क(HCF) कॊ ͙͘ गॏणॊ



what is the value of Y? / योद  दख़  ॠऺূॊ X और Y कॊ लघॏĀम ऺमĀĀशत१क(LCM) अपनॕ मऻĀम ऺमĀĀशत१क(HCF) कॊ ͙͘ गॏणॊ
ऻॖ|HCF और LCM कॊ यख़ग ͚͛͗ ऻॖ|योद X कॊ मॊन ͚͠ ऻॖ तख़ Y कॊ मॊन ভॊ ऻॖ?

114 / ͛͘͘

124 / ͙͛͘

134 / ͚͛͘

144 / ͛͛͘

Correct Answer :­124 / ͙͛͘ 

4)

Question Stimulus :­

Maths

A train is running at an average speed of 54 km/hr. What is the distance covered by the train in 10
secs? / एक ट३ ॕन ͛͜ोकमॎ/ঋोत घॠटॊ कॎ औऺत रĀॊर ऺॕ चलतॎ ऻॖ|तख़ ͗͘ ऺॕकॠ ड म७ ट३ ॕन ोकतनॎ दॐ रॎ  तय कर लॕगॎ?

250 m / ͙͗͜मॎ

100 m / ͗͗͘मॎ

54 m / ͛͜मॎ

150 m / ͗͘͜मॎ

Correct Answer :­150 m / ͗͘͜मॎ 

5)



Question Stimulus :­

Maths

What is the average of all the 2 digit even numbers lying between 25 and 45? / ͙͜ और ͛͜ कॕ बॎच
आनॕशॊलॎ ͙ अॠकख़ ॠ शॊलॎ ऺम  ॠऺূॊओॠ कॊ औऺत बतॊय७?

34 / ͚͛

36 / ͚͝

35 / ͚͜

37 / ͚͞

Correct Answer :­35 / ͚͜ 

6)

Question Stimulus :­

Maths

The price of tea reduces by 25%. But Arundhati, in spite of the decrease, ended up increasing her
expenditure on tea by 20%. What is the percentage change in the monthly consumption of tea by
Arundhati? / चॊयपĀॎ कॊ मॐĀ ͙͜% घट जॊतॊ ऻॖ | पर अॹॠ धतॎ इऺ কॊऺ कॕ बॊद भॎ चॊय पर ऻख़नॕशॊलॕ खच८ कख़ ͙͗% तक बढॊतॎ
ऻॖ. अॹॠ धतॎ ကॊरॊ चॊय कॕ मॊोऺक खपत म७ ोकतनॊ बदलॊश ोकयॊ गयॊ ऻॖ?

Increase by 33.33% / ͚͚.͚͚%ऺॕ बुनॊ

Decrease by 60% / ͗͝% ऺॕ घटनॊ

Increase by 50% / ͗͜% ऺॕ बुनॊ



Increase by 60% / ͗͝% ऺॕ बुनॊ

Correct Answer :­Increase by 60% / ͗͝% ऺॕ बुनॊ 

7)

Question Stimulus :­

Maths

₹ 580 is divided among 1500 children. Each girl gets 25p and each boy gets 50p. How many boys
are there out of 1500 children? / ͗͗͘͜ बৡख़ॠ कॕ बॎच ͗͜͟ ॹपयॕ बॊॠटॕ जॊतॕ ऻ॰|ऻर लीकॎ कख़ ͙͜ पॖऺॕ ोमलतॕ ऻ॰ और लीकख़ॠ कख़
͗͜ पॖऺॕ ोमलतॕ ऻ॰|͗͗͘͜ बৡख़ॠ म७ ोकतनॕ लीकॕ ऻ॰?

820 / ͙͗͟

620 / ͙͗͝

680 / ͗͟͝

540 / ͛͗͜

Correct Answer :­820 / ͙͗͟ 

8)

Question Stimulus :­

Maths

Find a vector of magnitude 3, which is perpendicular to both the vectors a = 4i – j + 3k and b = ­ 2i
+ j – 2k. / ͚ पौरमॊण कॊ एक शॕঠर ोनकॊल७ जख़ शॕঠर a = ͛i – j + ͚k और b = ­ ͙i + j – ͙k, दख़नख़ ॠ पर लॠब ऻख़

3(­ i + 2j + 2k) / ͚(­ i + ͙j + ͙k)                                



(­ i + 2j + 2k) / (­ i + ͙j + ͙k)                                 

( i + 2j + 2k) / ( i + ͙j + ͙k)

( i – 2j + 2k) / ( i – ͙j + ͙k)

Correct Answer :­(­ i + 2j + 2k) / (­ i + ͙j + ͙k)                                  

9)

Question Stimulus :­

Maths

If y = 2x3 – 15x2 + 36x + 8; what can be the value of x, when d2y/dx2 = 12? / योद y = ͙x3 – ͘͜x2 +
͚͝x + ͟ ऻॖ;जब d͙y/dx͙= ͙͘ ऻख़गॊ तख़ x कॊ मॊन ोनकॊल७?

2.5 / ͙.͜

3 / ͚

3.5 / ͚.͜

4 / ͛

Correct Answer :­3.5 / ͚.͜ 

10)

Question Stimulus :­

Maths

If TanA = 3/4, what is the value of SinA + CosA? / योद TanA =͚/͛,तख़ SinA + CosA ভॊ ऻख़गॊ?



0.4 / ͗.͛

1.4 / ͘.͛

2.33 / ͙.͚͚

2.4 / ͙.͛

Correct Answer :­1.4 / ͘.͛ 

11)

Question Stimulus :­

Maths

What is the probability that a leap year (366 days) will contain 53 Wednesdays? / एक अोधशह१(͚͝͝
ोदन) म७ ͚͜ बॏधशॊर आएॠ गॕ इऺकॎ ोकतनॎ ऺĀॊशनॊ ऻॖ?

1/7 / ͘/͞

2/7 / ͙/͞

3/5 / ͚/͜

2/5 / ͙/͜

Correct Answer :­2/7 / ͙/͞ 

12)

Question Stimulus :­

Maths



What is the coefficient of range of the following series: 10, 20, 18, 19, 17, 15, 11? / ोनĀोल्खत ঒॑ॠखलॊ
ॿम कॊ गॏणॊॠक ভॊ ऻख़गॊ: ͗͘,͙͗,͘͟, ͘͠,͘͞,͘͜,͘͘?

 

50 / ͗͜

33.33 / ͚͚.͚͚

35 / ͚͜

66.67 / ͝͝.͝͞

Correct Answer :­33.33 / ͚͚.͚͚ 

13)

Question Stimulus :­

Maths

The exterior angle A of a triangle ABC is 115o and one of the two interior opposite angles B is 70o.
Find the measure of other interior angle C. / एक ोআभॏज ABC कॊ बॊĀ कख़ण A ͗͘͘͜ ऻॖ और दख़ आतॠौरक और ोशपरॎत
कख़नख़ ॠ म७ ऺॕ एक ͗͗͞ ऻॖ. दॐ ऺरॕ आॠतौरक कख़नख़ ॠ C कॊ पौरमॊण बतॊएॠ .

65o / ͗͜͝

115o / ͗͘͘͜

45o / ͛͗͜

35o / ͚͗͜



Correct Answer :­45o / ͛͗͜ 

14)

Question Stimulus :­

Maths

The ratio of money with A and S is 4 : 5 and that with S and M is 5 : 6. If A has ₹ 28000, then what
is the amount of money with M? / ए(A) और एऺ(S) कॕ पॊऺ पॖऺॊ कॊ अनॏपॊत ͛:͜ ऻॖ शऻॎ ॠ एऺ(S) और एम(M) कॕ पॖऺख़ ॠ
कॊ ͜:͝ ऻॖ,तख़ एम(M) कॕ पॊऺ ोकतनॊ पॖऺॊ ऻॖ?

₹ 32000 / ͚͙͗͗͗

₹ 42000 / ͙͛͗͗͗

₹ 64000 / ͛͗͗͗͝

₹ 35000 / ͚͗͗͗͜

Correct Answer :­₹ 42000 / ͙͛͗͗͗ 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

In a friendly race between four singers, Himesh came ahead of Taz but finished after Bappi who
was defeated by Chitra who finished after Baba. / चॊर गॊयकख़ ॠ कॕ बॎच ॽई एक ोमআशत दग़ी म७ ोऻमॕष, तॊज ऺॕ आगॕ
रऻॊ लॕोकन शऻ बĀॎ ऺॕ पॎछॕ रऻॊ ोजऺॕ ोचআॊ नॕ ऻरॊ ोदयॊ ोजऺनॕ ोक बॊबॊ कॕ बॊद दग़ी ख़Ā कॎ। 

What position did Chitra finish? ोचআॊ नॕ ोकऺ Āथॊन कॕ ऺॊथ दग़ी पॐरॎ कॎ?



Third / त॑तॎय

Second / ोကतॎय

First / ঋथम

Fourth / चतॏथ१

Correct Answer :­Second / ोကतॎय 

2)

Question Stimulus :­

CANCELLED

Reasoning

Gatansha’s Roll Number in her class is 21st from the start and end. How many students are enrolled
in her class / गतॊĀहॊ कॎ पॠजॎकरण  ॠऺূॊ उऺकॎ क঴ॊ म७ ঋॊरॠभ और अॠत ऺॕ ͙͘ ऻॖ। उऺकॎ क঴ॊ म७ ोकतनॕ ोशĀॊोथ१यख़ ॠ कॊ पॠजॎकरण
ॽआ ऻॖ?

42 / ͙͛

43 / ͚͛

44 / ͛͛

22 / ͙͙

Correct Answer :­43 / ͚͛ 

3)



Question Stimulus :­

Reasoning

The Republic Day of India in the year 2012 came on a Thursday. The first Sunday in the month of
April of the same year shall be on which date / शह१ ͙͙͗͘ म७ भॊरत कॊ गणतॠআ ोदशऺ ঍ऻĀोत शॊर कख़ पीॊ। इऺॎ शह१ म७
ोकऺ ोदनॊॠक कख़ अঋॖल कॕ मऻॎनॕ म७ पऻलॊ रोश शॊर पीॊ?

1st / ͘

3rd  / ͚

2nd  / ͙

7th  / ͞

Correct Answer :­1st / ͘ 

4)

Question Stimulus :­

Reasoning

In certain Code Language / ोकऺॎ कख़ड भॊहॊ म७:

784 means guest coming tomorrow / ͛͟͞ कॊ अथ१ ऻॖ guest coming tomorrow

278 means my guest coming / ͙͟͞ कॊ अथ१ ऻॖ my guest coming

795 means guest are wonderful  / ͜͞͠ कॊ अथ१ ऻॖ guest are wonderful

Which of the following would stand for are / are कॕ ोलए ोनĀ म७ ऺॕ कग़न ऺॊ  ॠऺकॕत उपयॏঢ ऻॖ

9 / ͠



7 / ͞

8 / ͟

4 / ͛

Correct Answer :­9 / ͠ 

5)

Question Stimulus :­

Reasoning

If / योद ­ :

THAT = 98 / ͟͠; ONLY = 132 / ͚͙͘ & KICKED = 86 / ͟͝;

Then BETTERMENT = ? / तख़ BETTERMENT = ?

246 / ͙͛͝

256 / ͙͜͝

112 / ͙͘͘

244 / ͙͛͛

Correct Answer :­244 / ͙͛͛ 

6)

Question Stimulus :­

Reasoning



What shall appear in place of  “­­­“ / “­­­“कॕ Āथॊन पर ভॊ ऻख़नॊ चॊोऻए?

7  21 343  8  24  512  9  27  ­­­ /  ͞ ͙͘ ͚͚͛ ͟ ͙͛ ͙͘͜ ͠ ͙͞ ­­­

81 / ͘͟

900 / ͗͗͠

727 / ͙͞͞

729 / ͙͞͠

Correct Answer :­729 / ͙͞͠ 

7)

Question Stimulus :­

Reasoning

Sales (in ₹). of M/s. Bamboozle Limited / मॖऺ १ऺ बॖमबॐजल ोलोमटॕड कॎ ोबॿॎ (₹ म७)



Sales (in ₹). of M/s. Bamboozle Limited / मॖऺ १ऺ बॖमबॐजल ोलोमटॕड कॎ ोबॿॎ (₹ म७)

 

Given here is the Annual Sales performance of M/s. Bamboozle Limited for the period 2011 – 2015.
The Sales (in percentage terms) has increased in which of the following years the most over the
past year. / ͙͗͘͘­͙͗͘͜ कॎ अशोध कॕ ोलए मॖऺ १ऺ बॖमबॐजल ोलोमटॕड कॊ शॊोह१क ोबॿॎ ঋदष१न यऻॊँ ोदयॊ गयॊ ऻॖ। ोपछलॕ शहॵ म७ ऺॕ
ोनĀोल्खत ोकऺ शह१ म७ ोबॿॎ म७ बीख़Āरॎ (ঋोतषत म७) दॕखॎ गयॎ ऻॖ।  

2015 / ͙͗͘͜

2012 / ͙͙͗͘

2013 / ͙͚͗͘

2014 / ͙͗͛͘

Correct Answer :­2013 / ͙͚͗͘ 

8)

Question Stimulus :­

Reasoning

In a certain language CRAZY is written as DSBAZ, how would COMPUTATIONAL be written in the
same language / ोकऺॎ भॊहॊ म७ CRAZY कख़ DSBAZ ोलखॊ जॊतॊ ऻॖ तख़ उऺ भॊहॊ म७ COMPUTATIONAL कख़ ोकऺ ঋकॊर ऺॕ
ोलखॊ जॊयॕगॊ?

DPNQTVBUJPOBM

DPNQVTBUJPOBM

DPNQVUBUJPOBM



DPNQVUBVJPOBM

Correct Answer :­DPNQVUBUJPOBM 

9)

Question Stimulus :­

Reasoning

One day I was feeling bored and decided to go for a walk to pass some time. I went 2 km north,
and then turned left and walked for 2 km more, then I turned south and walked for 1 km. Then
again I took a left and walked for 2 km before stopping. Which position am I at the point where I
finally stopped with respect to the location from where I started / एक ोदन म७ बॽत उकतॊयॊ ॽआ मऻ ॐऺऺ कर
रऻॊ थॊ और म॰नॕ कॏ छ ऺमय ोबतॊनॕ कॕ ोलए घॐमनॕ कॕ ोलए जॊनॕ कॊ ोनण१य ोलयॊ। म॰ ͙ ोकमॎ उĀर कॎ ओर गयॊ, और ोफर बॊईॠ ओर घॐम
कर ͙ ोकमॎ और चलॊ, ोफर म७ दो঴ण कॎ ओर मॏीॊ और ͘ ोकमॎ चलॊ। म॰ ोफर बॊई ओर कख़ मॏीॊ और ॹकनॕ ऺॕ पऻलॕ ͙ ोकमॎ चलॊ।
ोजऺ ঋॊरॠ ोभक ोबॠदॏ ऺॕ म॰ चलॊ थॊ उऺकॕ ऺॊपॕ঴ जऻॊँ पर म॰ ॹक गयॊ, उऺ ोबॠदॏ पर म॰ ोकऺ ्Āथोत म७ ॾँ?

North­West / उĀर­पोĀम

East / पॐश१

North / उĀर

South­West /  दो঴ण­ पोĀम  

Correct Answer :­North / उĀर 

10)

Question Stimulus :­

Reasoning

Vishal, Vanshika, Vilom and Vidhya meet each other on a Train journey and discover that one each



of them is a Batsman, Writer, Student and Teacher, further, they find out that they are born under
the Zodiac sign of Aries, Taurus, Scorpion and Pisces in no particular order./ ोशषॊल, शॠोषकॊ ोशलख़म और
ोशĀॊ एक ट३ ॕन यॊআॊ कॕ दग़रॊन एक दॐ ऺरॕ ऺॕ ोमलतॕ ऻ॰ और यॕ पॊतॕ ऻ॰ ोक उनम७ ऺॕ कख़ई न कख़ई एक बĀॕबॊि, लॕखक, ोशĀॊथ५ और ोष঴क
ऻॖ, इऺकॕ अोतौरঢ शॕ यऻ पॊतॕ ऻ॰ ोक शॕ ोबनॊ ोकऺॎ ोशषॕह ॿम कॕ मॕह, श॑हभ, श॑ोĀक और मॎन रॊोषयख़ ॠ म७ जĀॕ ॽए ऻ॰। 

Also, Vishal is not a Writer neither a Teacher but is either an Aries or a Taurus. Vanshika is the
Student. Vidhya is born under the Scorpio sign but is not a Writer. Vilom is either born either under
Taurus or Pisces Zodiac Sign and has never held a Bat in his life. / इऺकॕ अोतौरঢ ोशषॊल न तख़ एक लॕखक ऻॖ
न ऻॎ शऻ एक ोष঴क ऻॖ परĀॏ यॊ तख़ शऻ मॕह ऻॖ यॊ श॑हभ। शॠोषकॊ एक ोशĀॊथ५ ऻॖ। ोशĀॊ श॑ोĀक रॊोष कॕ अॠतग१त जĀॎ ऻॖ परĀॏ शऻ लॕखक
नऻॎ ॠ ऻॖ। ोशलख़म श॑हभ यॊ मॎन रॊोष म७ ऺॕ एक रॊोष म७ जĀॊ ऻॖ और उऺनॕ अपनॕ ऺĀॐण१ जॎशन म७ कभॎ भॎ बĀॊ नऻॎ ॠ पकीॊ। 

Which of the following is most probably true / ोनĀ म७ ऺॕ कग़न ऺॊ कथन  ॠऺभशतयॊ ऺĀ ऻॖ?

Vidhya is a Batsman and a Pisces / ोशĀॊ एक बĀॕबॊि और एक मॎन रॊोष शॊलॎ लीकॎ ऻॖ

Vishal is a Teacher and a Taurus / ोशषॊल एक ोष঴क और श॑हभ रॊोष कॊ ऻॖ

Vanshika is a Student and a Taurus / शॠोषकॊ ोशĀॊथ५ ऻॖ और श॑हभ रॊोष कॎ ऻॖ

Vanshika is a Student and a Pisces / शॠोषकॊ एक ोशĀॊथ५ ऻॖ और मॎन रॊोष कॎ ऻॖ

Correct Answer :­Vanshika is a Student and a Pisces / शॠोषकॊ एक ोशĀॊथ५ ऻॖ और मॎन रॊोष कॎ ऻॖ 

11)

Question Stimulus :­

Reasoning

Complete the following series / ोनĀोल्खत ঒ॠखलॊ कख़ पॐण१ कर७ :

2 0.67  0.22  0.07  ­­­  / ͙ ͗.͝͞  ͗.͙͙  ͗.͗͞ ­­­.

0.05 / ͗.͗͜



0.02 / ͗.͙͗

0.03 / ͗.͚͗

0.04 / ͗.͗͛

Correct Answer :­0.02 / ͗.͙͗ 

12)

Question Stimulus :­

Reasoning

Yami is standing at the 24th position in a queue that has 92 people. What is position from the last /
यॊमॎ एक ͙͠ लख़गख़ ॠ शॊलॎ पॠ्ঢ म७ ͙͛श७ Āथॊन पर खीॎ ऻॖ। उऺकॊ Āथॊन अॠत ऺॕ कग़न ऺॊ ऻॖ?

68 / ͟͝

25 / ͙͜

69 / ͝͠

67 / ͝͞

Correct Answer :­69 / ͝͠ 

13)

Question Stimulus :­

Reasoning

At 6.30 PM, the two hands of the Clock remain at what degree difference from one another / षॊम कॕ

͝:͚͗ बजॕ घीॎ कॕ दख़  ॠऺकॕतक एक दॐ ऺरॕ ऺॕ ोकऺ कख़ण अॠतर पर ्Āथत ऻख़तॕ ऻ॰?



͝:͚͗ बजॕ घीॎ कॕ दख़  ॠऺकॕतक एक दॐ ऺरॕ ऺॕ ोकऺ कख़ण अॠतर पर ्Āथत ऻख़तॕ ऻ॰?

180° / ͗͘͟°

90° / ͗͠°

45° / ͛͜°

15° / ͘͜°

Correct Answer :­15° / ͘͜° 

14)

Question Stimulus :­

Reasoning

The following question is succeeded by two Statements, I and II. / ोनĀोल्खत ঋĀ दख़ कथनख़ ॠ I और II कॕ
ॠऺदभ१ म७ ोदयॊ गयॊ ऻॖ।

In a class there are 30% boys. 10% of girls’ names start with the letter ‘S’. What is the percentage
of boys whose name starts with the letter ‘S’ / एक क঴ॊ म७ ͚͗% लीकॕ ऻ॰। ͗͘% लीोकयख़ ॠ कॊ नॊम शण१ ‘S’ ऺॕ षॏॺ
ऻख़तॕ ऻ॰. शण१ ‘S’ ऺॕ ঋॊरॠभ ऻख़नॕ शॊलॕ लीकख़ॠ कॕ नॊमख़ ॠ कॊ ঋोतषत क঴ॊ म७ ভॊ ऻॖ?

Statement / कथन I: 25% of the class students name starts with the letter ‘S’. / क঴ॊ कॕ ͙͜% ोशĀॊोथ१यख़ ॠ
कॕ नॊम शण१ ‘S’ ऺॕ ঋॊरॠभ ऻख़तॕ ऻ॰।

Statement / कथन II: Number of boys whose names start with the letter ‘S’ is 20% more than that of
girls whose names start with the letter ‘S’.  / उन लीकख़ॠ कॎ  ॠऺূॊ ोजनकॕ नॊम शण१ ‘S’ ऺॕ षॏॺ ऻख़तॕ ऻ॰, ‘S’ शण१ ऺॕ
षॏॺ ऻख़नॕ शॊलॕ नॊमख़ ॠ कॎ लीोकयख़ ॠ कॕ मॏकॊबलॕ ͙͗% अोधक ऻॖ।

If the Question can be answered with Statement I alone. / योद ঋĀ कॊ उĀर कॕशल कथन I
कॎ ऺऻॊयतॊ ऺॕ ोदयॊ जॊ ऺकतॊ ऻॖ।



If the Question can be answered with Statement II alone. / योद ঋĀ कॊ उĀर कॕशल कथन II
 कॎ ऺऻॊयतॊ ऺॕ ोदयॊ जॊ ऺकतॊ ऻॖ।

If the Question can be answered with either Statement I or Statement II alone. / योद
ঋĀ कॊ उĀर कॕशल यॊ तख़ कथन I यॊ II  कॎ ऺऻॊयतॊ ऺॕ ोदयॊ जॊ ऺकतॊ ऻॖ।

If the Question can be answered by using both Statement I and Statement II but not
by either Statements alone. / योद ঋĀ कॊ उĀर दख़नख़ ॠ कथनख़ ॠ I और II कॎ ऺऻॊयतॊ ऺॕ ोदयॊ जॊ ऺकतॊ ऻॖ
लॕोकन इनम७ ऺॕ ोकऺॎ अकॕलॕ कॕ ကॊरॊ नऻॎ ॠ।

Correct Answer :­If the Question can be answered with either Statement I or Statement II alone. /
योद ঋĀ कॊ उĀर कॕशल यॊ तख़ कथन I यॊ II  कॎ ऺऻॊयतॊ ऺॕ ोदयॊ जॊ ऺकतॊ ऻॖ। 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

Which of the following disease is NOT carried by Mosquito? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ रख़ग मषकख़ॠ (मৢरख़ ॠ)
ကॊरॊ शऻन नऻॎ ॠ ोकयॊ जॊतॊ?

Yellow Fever / पॎत Āर

Chikungunya / ोचकनगॏोनयॊ

Leptospirosis / लॕĀख़्Āरख़ोऺऺ

Encephalitis / म्ĀĀ Āर (म्ĀĀ कलॊषख़थ)

Correct Answer :­Leptospirosis / लॕĀख़्Āरख़ोऺऺ 



2)

Question Stimulus :­

General Science

Reportedly, the Planet Saturn has how many moons in its orbit? / कोथत ॺप ऺॕ, षोन ঁऻ कॕ क঴पथ (क঴ॊ)
म७ ोकतनॕ उपঁऻ (चॊँद) ऻ॰?

7 / ͞

62 / ͙͝

58 / ͜͟

12 / ͙͘

Correct Answer :­62 / ͙͝ 

3)

Question Stimulus :­

General Science

Newton’s second law of motion gives us the measure of:­ / ကॐटन कॊ गोत कॊ ोကतॎय ोऺĀॊॠत ऻम७ इऺ कॊ मॊप दॕतॊ
ऻॖ:­

force / बल

momentum / शॕग

acceleration / ကरण

impulse /  ॠऺशॕग



Correct Answer :­force / बल 

4)

Question Stimulus :­

General Science

At what temperature the Fahrenheit and Celsius reading are absolutely same? / ोकऺ तॊपमॊन पर
ूॊरॕनऻॊइट एशॠ ऺॕ्ကयऺ पॊठ (रॎोडॠग) एक ऺमॊन ऻख़तॕ ऻ॰?

40° / ͛͗°

­ 40° / ­͛͗°

32° / ͚͙°

­ 32° / ­͚͙°

Correct Answer :­­ 40° / ­͛͗° 

5)

Question Stimulus :­

Goitre is a pathological condition associated with which of the following? / गलगĀ एक रख़गमॐलक ्Āथोत ऻॖ
जख़ ोनĀोल्खत म७ ऺॕ ोकऺ ऺॕ  ॠऺबॠोधत ऻॖ?

Progesterone / ঋख़जॕĀॕरख़न

Glucagon / ৕ॐकॊगॗन

Thyroxin / थॊयरॗ्সन



Testosterone / टॕĀख़टॕरख़न

Correct Answer :­Thyroxin / थॊयरॗ्সन 

6)

Question Stimulus :­

General Science

Vermiculture is rearing of: / क॑ोम­पॊलन इनकॊ पॊलन ऻॖ:

Earthworms / क७ चॏआ

Vultures / ग॑Ā

Pigs / षॐकर

Snakes / ऺप१

Correct Answer :­Earthworms / क७ चॏआ 

7)

Question Stimulus :­

General Science

Turmeric stain on white cloth turns red after washing with soap, because the soap solution is / ऺूॕद
शĀ पर ऻĀॎ कॊ दॊग ऺॊबॏन ऺॕ धख़नॕ पर लॊल ऻख़ जॊतॊ ऻॖ, ভख़ॠोक ऺॊबॏन कॊ ोशलयन ऻॖ

A) basic / ঴ॊरॎय

B) acidic / अĀॎय



C) neutral / उदॊऺॎन

D) (A) and (B) / (A) एशॠ (B)

Correct Answer :­A) basic / ঴ॊरॎय 

8)

Question Stimulus :­

General Science

Which of the following is NOT known a Green House Gas? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ एक ऻौरत ग॑ऻ (ऊĀ ग॑ऻ)
गॖऺ नऻॎ ॠ कऻलॊतॊ ऻॖ?

Methane / मॎथॕन

Nitrous oxide / नॊइट३ऺ ऑসॊइड

Carbon dioxide / कॊब१न डॊइऑসॊइड

Hydrogen / ऻॊइड३ ख़जन

Correct Answer :­Hydrogen / ऻॊइड३ ख़जन 

9)

Question Stimulus :­

General Science

Which of the following is commonly called a Polyamide? / ोनĀोल्खत म७ ऺॕ ोकऺॕ ऺॊधॊरणतॡ एक पॗोलयॊमॊइड
कऻॊ जॊतॊ ऻॖ?

Rayon / रॕयॗन



Orlon / ऑरलॗन

Terylene / टॕरॎलॎन

Nylon / नॊयलॗन

Correct Answer :­Nylon / नॊयलॗन 

10)

Question Stimulus :­

General Science

If salt is added to water ____. / योद जल म७ लशण ोमो঒त ोकयॊ जॊयॕ ______.

The boiling point of water increases / जल कॊ রथनॊॠक शोध१त ऻख़तॊ ऻॖ

The boiling point of water decreases / जल कॊ রथनॊॠक কॊऺ ऻख़तॊ ऻॖ

The boiling point of water is not affected / जल कॊ রथनॊॠक ঋभॊोशत नऻॎ ॠ ऻख़तॊ

Freezing point of water increases / जल कॊ ोऻमॊॠक शोध१त ऻख़तॊ ऻॖ

Correct Answer :­The boiling point of water increases / जल कॊ রथनॊॠक शोध१त ऻख़तॊ ऻॖ 

11)

Question Stimulus :­

General Science

Loss of forests, Urbanization and increasing pollution, chiefly occur due to: / शनख़ ॠ कॊ ঴य, नगरॎकरण एशॠ
शध१मॊन जन ॠऺূॊ, मॏূतॡ इऺ कॊरण ऻख़तॕ ऻ॰:

Global warming / शॖोĀक (भॐमॠडलॎय) तॊपश्॑Ā



Global warming / शॖोĀक (भॐमॠडलॎय) तॊपश्॑Ā

Green­house effect / ऻौरत­ग॑ऻ ঋभॊश

Population explosion / जन ॠऺূॊ ोशĀख़ट

Ozone depletion / ओजख़न (ঋजॊरक) अश঴य

Correct Answer :­Population explosion / जन ॠऺূॊ ोशĀख़ट 

12)

Question Stimulus :­

General Science

What is the SI unit of energy? / ऊजॊ१ कॊ एऺआई (SI ) इकॊई ভॊ ऻॖ?

Watt / शॊट

Joule / जॐल

Pascal / पॊĀल

Newton / ကॐटन

Correct Answer :­Joule / जॐल 

13)

Question Stimulus :­

General Science

Which of the following is NOT a type of Renewable Energy resource? / ोनĀोल्खत म७ ऺॕ कग़न ऊजॊ१ कॊ एक
पॏनन१शॎकरणॎय (अ঴य) ঔख़त कॊ ঋकॊर नऻॎ ॠ ऻॖ?



पॏनन१शॎकरणॎय (अ঴य) ঔख़त कॊ ঋकॊर नऻॎ ॠ ऻॖ?

Uranium / यॐरॕोनयम

Tide / लऻर

Wind / पशन

Biomass / जॖशभॊर

Correct Answer :­Uranium / यॐरॕोनयम 

14)

Question Stimulus :­

General Science

Most important component of an Oral Contraceptive pill is: / एक मग़्खक गभ१ोनरख़धक गख़लॎ कॊ ऺशॊ१ोधक
मऻĀपॐण१ घटक ऻॖ:

Growth Hormone / श्॑Ā अĀॡ ঔॊश (ऻॗमॳन)

Progesterone / ঋख़जॕĀॕरख़न

Luteinizing Hormone / Āॏोटनॎोिॠग अĀॡ ঔॊश (ऻॗमॳन)

Thyroxin / थॊयरॗ्সन

Correct Answer :­Progesterone / ঋख़जॕĀॕरख़न 

Topic:­ G3_General Computer Knowledge
1)



Question Stimulus :­

Computer

Internet is known as: / अॠतजॊ१ल कख़ ऐऺॕ जॊनॊ जॊतॊ ऻॖ:

local area network / Āथॊनॎय ঴ॕআ तॠআजॊल

single area network / एकल ঴ॕআ तॠআजॊल

topology / ऺॊॠ्Āथोत

vast collection of different network. / प॑थक तॠআजॊलख़ ॠ कॊ एक ကॊपक  ॠऺঁऻ

Correct Answer :­vast collection of different network. / प॑थक तॠআजॊलख़ ॠ कॊ एक ကॊपक  ॠऺঁऻ 

2)

Question Stimulus :­

 Computer

CRT stands for: / ऺॎआरटॎ कॊ तॊĀय१ ऻॖ:

cathode ray tube / ोनကॊर ोकरण नोलकॊ (कॖथख़ड रॕ Āॐब)

crystal ray tube / Āोटक ोकरण नोलकॊ (ोॿĀल रॕ Āॐब)

cathode right tube / ोनကॊर दो঴ण नोलकॊ (कॖथख़ड रॊइट Āॐब)

none of the above. / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­cathode ray tube / ोनကॊर ोकरण नोलकॊ (कॖथख़ड रॕ Āॐब) 



3)

Question Stimulus :­

Computer

Writing of computer instruction in a programming language is known as: / ोकऺॎ ॿमॊदॕषन भॊहॊ म७  ॠऺगणक
ोनद८षख़ ॠ कख़ ोलखनॊ कऻलॊतॊ ऻॖ:

processing / ঋॿमण

coding / कॐ टबĀ करनॊ

language / भॊहॊ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­coding / कॐ टबĀ करनॊ 

4)

Question Stimulus :­

Computer

Each and every computer has its own: / ঋĀॕक एशॠ ऺभॎ  ॠऺगणकख़ ॠ कॎ ऻख़तॊ ऻॖ Āयॠ कॎ :

Machine language / यॊॠोআक भॊहॊ

High level language / उৡ Āरॎय भॊहॊ

Transfer language / Āथॊनॊॠतरण भॊहॊ

Assemble language /  ॠऺयख़जन भॊहॊ



Correct Answer :­Machine language / यॊॠोআक भॊहॊ 

5)

Question Stimulus :­

Computer

First generation computers are: / ঋथम ঋजĀ  ॠऺगणक ऻ॰:

Vacuum tubes / ोनशॊ१त नोलकॊएॠ

Transistors / ঋोतरख़धॊĀौरআ (ट३ ॊॠोजĀर)

IC chips / आईऺॎ ोचप

SSI Chips / एऺएऺआई ोचप

Correct Answer :­Vacuum tubes / ोनशॊ१त नोलकॊएॠ  

6)

Question Stimulus :­

Computer

Best memory allocation method is: / ऺशॳĀम Ā॑ोत आशॠटन ोशोध ऻॖ:

Least fit / ကॐनतम यख़৓

Worst fit / ोनक॑Āतम यख़৓

Best fit / ऺशॳĀम यख़৓

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­Best fit / ऺशॳĀम यख़৓ 

7)

Question Stimulus :­

Computer

Super computers are used for: / मऻॊ­अोभकोलআख़ ॠ (मऻॊ­ ॠऺगणकख़ ॠ) कॊ उपयख़ग इऺ ऻॕतॏ ऻख़तॊ ऻॖ

mathematical and scientific applications / गोणतॎय एशॠ शॖĀॊोनक ঋयख़ग

input/output operations / ोनशॕष/ोनग१म ঋचॊलन

logical operations  / तॊोक१ क ঋचॊलन

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­mathematical and scientific applications / गोणतॎय एशॠ शॖĀॊोनक ঋयख़ग 

8)

Question Stimulus :­

Computer

URL stands for: / यॐआरएल (URL ) कॊ अथ१ ऻॖ:

uniform resource locator / ऺमॺप ঔख़त खख़जॎ (यॐोनफॊम१ ौरऺख़ १ऺ लख़कॕटर)

universal resource locator / शॖोĀक ঔख़त खख़जॎ (यॐोनश १ऺल ौरऺख़ १ऺ लख़कॕटर)

universe resource locator / ोशĀ ঔख़त खख़जॎ (यॐोनश १ऺ ौरऺख़ १ऺ लख़कॕटर)

uniform resource loading / ऺमॺप ঔख़त ঋभॊरण (यॐोनफॊम१ ौरऺख़ १ऺ लख़ोडॠग)



Correct Answer :­uniform resource locator / ऺमॺप ঔख़त खख़जॎ (यॐोनफॊम१ ौरऺख़ १ऺ लख़कॕटर) 

9)

Question Stimulus :­

Computer

Todays modern computer as compared to the earlier computers are: / ঋॊरॠ ोभक  ॠऺगणकख़ ॠ कॎ तॏलनॊ म७ आज कॕ
आधॏोनक  ॠऺगणक ऻ॰:

slower and larger / धॎरतर एशॠ ब॑ऻĀर

faster and smaller / ঈॏततर एशॠ ঴ॏঈतर

lesser efficient / लघॏतर कॊय१঴म

larger and inaccurate / ब॑ऻĀर एशॠ আॏोटपॐण१

Correct Answer :­faster and smaller / ঈॏततर एशॠ ঴ॏঈतर 

10)

Question Stimulus :­

Computer

 Which of the following is a fastest LAN? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ঈॏततम लॖन (LAN) ऻॖ?

FDDI / एफडॎडॎआई (FDDI)

Token bus / ঋतॎक  ॠऺशॊऻक (टख़कन बऺ)

SMTP / एऺएमटॎपॎ (SMTP)



Firewall / अो্ঋॊचॎर

Correct Answer :­FDDI / एफडॎडॎआई (FDDI) 

11)

Question Stimulus :­

Computer

File access methods are: / ोमोऺल उपॊगम ोशोधयॊॠ ऻ॰:

Random access method / ॿमऻॎन उपॊगम ोशोध

Sequential access / ॿमबĀ उपॊगम

Direct access / ঋĀ঴ उपॊगम

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

12)

Question Stimulus :­

Computer

First time computer chips were used in the year: / इऺ शह१ ऺश१ঋथम  ॠऺगणक ोचप कॊ उपयख़ग ोकयॊ गयॊ थॊ:

1970 / ͗͘͠͞

1975 / ͘͜͠͞

1976 / ͘͠͞͝



1979 / ͘͠͞͠

Correct Answer :­1975 / ͘͜͠͞ 

13)

Question Stimulus :­

Computer

In case of simplex transmission, data transmission is: / एकĀरॎय  ॠऺचॊर कॕ ঴ॕআ म७, तĀ  ॠऺचॊर ऻॖ:

Two way / ोကमॊग५य

Two way duplex / ोကमॊग५य ोကĀरॎय

One way / एकमॊग५य

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­One way / एकमॊग५य 

14)

Question Stimulus :­

Computer

Early stored computer is an example of: / ঋॊरॠ ोभक भॠडॊौरत  ॠऺगणक इऺकॊ एक उदऻॊरण ऻॖ:

UNIVAC / यॐनॎशॖक (UNIVAC)

EDVAC / एडशॖक (EDVAC)

ALLIAC / अोलएक (ALLIAC)



All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­EDVAC / एडशॖक (EDVAC) 

Topic:­ G3_Mechanical
1)

Question Stimulus :­

Mechanical

T­joint weld is used / टॎ­जख़ी झलॊई कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ:

where longitudinal shear is present / जऻॊँ दॕषॊॠतरॎय परत मग़जॐद ऻख़

where severe loading is encountered  and the upper surface of both pieces must be
in the same plane / जऻॊँ तॎ঑ लख़ोडॠग ऻख़ और दख़नख़ ॠ भॊगख़ ॠ कॎ ऊपरॎ ऺतऻ एक ऻॎ तऻ पर ऻख़ ॠ

to join two pieces of metal in the same manner as rivet joint metals / कॎलक  ॠऺयॏঢ
धॊतॏओॠ कॎ तरऻ धॊतॏ कॕ दख़ भॊगख़ ॠ कख़ एक ऻॎ ঋकॊर ऺॕ जख़ीनॕ कॕ ोलए

to join two pieces perpendicularly / दख़ भॊगख़ ॠ कख़ अधख़लĀ जख़ीनॕ कॕ ोलए

Correct Answer :­where longitudinal shear is present / जऻॊँ दॕषॊॠतरॎय परत मग़जॐद ऻख़ 

2)

Question Stimulus :­

Mechanical

In a damped vibration system, the damping force is proportional to:­ / अशमॠोदत कॠ पन तॠআ म७ अशमॠदन बल
ोनĀ कॕ ऺॊनॏपॊोतक ऻॖ:­



Vibrations / कॠ पन

Displacement / ोशĀथॊपन

Velocity / शॕग

Compression /  ॠऺपॎीन

Correct Answer :­Velocity / शॕग 

3)

Question Stimulus :­

Mechanical

The abbreviation ERW in ERW pipe stands for: / ईआरडĀॐ पॊइप म७ ईआरडĀॐ कॊ अथ१ ऻख़तॊ ऻॖ:

electrically resistance welded / ोबजलॎ ঋोतरख़ध झलॊई

elastic reinforced with wire / तॊर यॏঢ लख़चदॊर ঋबल

extra reinforcement welded / अोतौरঢ ঋबल झलॊई

electrically reinforced and welded / ोबजलॎ ঋबल और झलॊई

Correct Answer :­electrically resistance welded / ोबजलॎ ঋोतरख़ध झलॊई 

4)

Question Stimulus :­

Mechanical

Stress in a beam and moment:­ / ोकरण और पल म७ तनॊश ऻॖ:­
Are directly proportional / ঋĀ঴ ऺॊनॏपॊोतक ऻॖ



Are directly proportional / ঋĀ঴ ऺॊनॏपॊोतक ऻॖ

Are inversely proportional / ကॏĀमॊनॏपॊतॎ ऺॊनॏपॊोतक ऻॖ

Are curvilinearly related / शॿ रॕखॎय  ॠऺबॠधॎ ऻॖ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Are directly proportional / ঋĀ঴ ऺॊनॏपॊोतक ऻॖ 

5)

Question Stimulus :­

Mechanical

For fastening two sheets by rivets, the desirable property of rivet material is: / कॎलकख़ॠ ကॊरॊ दख़ बॠधनख़ ॠ कॎ
तॕजॎ कॕ ोलए कॎलक ऺॊमঁॎ कॊ शॊॠोछत मॊन ऻॖ:

Ductility / म॑दॏतॊ

Brittleness / भॠगॏरतॊ

Hardness / कठख़रतॊ

Resilience / लचॎलॊपन

Correct Answer :­Ductility / म॑दॏतॊ 

6)

Question Stimulus :­

Mechanical



Air refrigeration cycle is used in aeroplanes because of:­ / शॊयॏ ঋषॎतक चॿ कॊ उपयख़ग ऻशॊई जऻॊज म७ ोकयॊ
जॊतॊ ऻॖ ভख़ॠोक:­

high heat transfer rate of air / शॊयॏ कॎ उৡ ऊĀॊ ऻĀॊॠरण दर

higher COP / उৡ ऺॎओपॎ

lower temperature attainable / ोनĀ ঋॊĀ तॊपमॊन

lower weight of machine per ton of refrigeration / ঋषॎतक कॕ ঋोत टन यॠআ कॊ ोनĀ भॊर

Correct Answer :­lower weight of machine per ton of refrigeration / ঋषॎतक कॕ ঋोत टन यॠআ कॊ ोनĀ भॊर 

7)

Question Stimulus :­

Mechanical

Shock effect in a nozzle is felt in:­ / चॠचॏ म७ झटकॕ कॊ ঋभॊश ोनĀ म७ मऻ ॐऺऺ ोकयॊ जॊतॊ ऻॖ:­

divergent portion / ोशोशध भॊग

straight portion / ऺॎधॊ भॊग

convergent portion /  ॠऺऺ॑त भॊग

throat / कॠ ठ

Correct Answer :­divergent portion / ोशोशध भॊग 

8)

Question Stimulus :­



Mechanical

Consider the following statements. / ोनĀ कथनख़ ॠ कख़ मॊनतॕ ॽए.

1. Supercharging increases the power output and increases the volumetric efficiency / अोत आशॕोषत
ঋॊĀ ष्ঢ कख़ ऻॖ और आयतनॎ कॊय१঴मतॊ कख़ बुॊतॊ ऻॖ

2. Supercharging is more suitable for S.I. engines than C.I. engines. / ऺॎ.आई. इॠजन कॎ तॏलनॊ म७ एऺ. आई.
इॠजन कॕ ोलए अोत आशॕोषत अोधक उपयॏঢ ऻॖ.

3. The limit of supercharging for an S.I. engine is set by knock while that for a C.I. engine is set by
thermal loading. / एऺ.आई. इॠजन कॕ ोलए अोत आशॕोषत कॎ दर नॗक ကॊरॊ ऺॕट कॎ जॊतॎ ऻॖ जबोक ऺॎ. आई. इॠजन कॕ ोलए थम१ल
लख़ोडॠग ကॊरॊ ऺॕट कॎ जॊतॎ ऻॖ.

Which of the statements given above are correct? / ऊपर ोदए गए कथनख़ ॠ म७ ऺॕ कग़न ऺॊ ऺऻॎ ऻॖ?

2 and 3 / ͙ और ͚

1, 2 and 3 / ͘, ͙ और ͚

1 and 3 / ͘ और ͚

1 and 2 / ͘ और ͙

Correct Answer :­1 and 3 / ͘ और ͚ 

9)

Question Stimulus :­

Mechanical

Using a jockey pulley (or idler pulley) in an open belt drive, does not necessarily lead to increase of
which of the following / खॏलॎ पĀॊ चॊलक म७ जॗकॎ चरखॎ कॊ उपयख़ग ोनĀ म७ ऺॕ ोकऺकॎ श्॑Ā कॊ जॺरॎ कॊरण नऻॎ ॠ ऻख़तॊ?

Arc of contact / चॊप  ॠऺऺग१



Arc of contact / चॊप  ॠऺऺग१

Tensions in the belts / पĀॕ म७ तनॊश

Belt speed / पĀॊ गोत

Power transmission  / ष्ঢ ऻĀॊॠतरण

Correct Answer :­Belt speed / पĀॊ गोत 

10)

Question Stimulus :­

Mechanical

40% of incident radiant energy on the surface of a thermally transparent body is reflected back. If
the transmissivity of the body be 0.15, then the emissivity of surface is:­ / ͛͗% घटनॊओॠ म७ थम१लॎ पॊरदष५
ोपॠड कॎ ऺतऻ पर ঋकॊष ऊजॊ१ शॊपऺ परॊशोत१त ऻख़तॎ ऻॖ. योद ढॊँचॕ कॎ पॊरगमन ঴मतॊ ͗.͘͜ ऻख़, तख़ ऺतऻ कॎ उĀज१कतॊ ऻख़तॎ ऻॖ:­

0.45 / ͗.͛͜

0.55  / ͗.͜͜

0.40  / ͗.͛͗

0.75 / ͗.͜͞

Correct Answer :­0.45 / ͗.͛͜ 

11)

Question Stimulus :­



CANCELLED

Mechanical

When a rectangular beam is loaded transversely, the maximum compressive stress develops on:­ /
ोकऺॎ आयतॊकॊर ोकरण कख़ ोतरछॊ भरनॕ पर अोधकतम  ॠऺपॎीन दबॊश ोनĀ पर ोशकोऺत ऻख़तॊ ऻॖ:­

bottom fibre / ोनचलॊ तॠतॏ

top fibre / षॎह१ तॠतॏ

Every cross section / ঋĀॕक  ॠऺकर अनॏभॊग

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­top fibre / षॎह१ तॠतॏ 

12)

Question Stimulus :­

Mechanical

The maximum value of frictional force when the motion is impending is known as / आऺĀ गोत ऻख़नॕ पर
घह१ण बल कॊ अोधकतम मॊन कऻलॊतॊ ऻॖ:­

Limiting friction  / ऺॎोमत घह१ण

Dynamic friction / गोतषॎल घह१ण

Static friction / ऺॊॠূकॎय घह१ण

Sliding friction / रपट घह१ण

Correct Answer :­Limiting friction  / ऺॎोमत घह१ण 



13)

Question Stimulus :­

Mechanical

Formation of frost on evaporator in refrigerator:­ / ঋषॎतक म७ शॊ्Āআ पर ठढ कॊ ोनमॊ१ण:­

is essential for energy conservation / ऊजॊ१ पौरशत१न कॕ ोलए मऻကपॐण१ ऻॖ

Can be avoided by proper design / उोचत ोडजॊइन ऺॕ बचॊ जॊ ऺकतॊ ऻॖ

Increases heat transfer rate / ऊĀॊ ऻĀॊॠतरण दर म७ श्॑Ā

Results in loss of heat due to poor heat transfer / कमजख़र ऊĀॊ ऻĀॊॠतरण कॕ पौरणॊमĀॹप
ऊĀॊ कॎ ऻॊोन

Correct Answer :­Results in loss of heat due to poor heat transfer / कमजख़र ऊĀॊ ऻĀॊॠतरण कॕ पौरणॊमĀॹप
ऊĀॊ कॎ ऻॊोन 

14)

Question Stimulus :­

Mechanical

In theory of machine, the inversion of mechanism can be obtained by / यॠআ कॕ ोऺĀॊॠत म७ तॠআ कॊ ोशलख़मन ोनĀ
कॕ ကॊरॊ ঋॊĀ ोकयॊ जॊ ऺकतॊ ऻॖ:

removing the pairs / यॏ৒ख़ ॠ कख़ ऻरॊकर

fixing any one link / ोकऺॎ भॎ एक कीॎ कख़ ोफস करकॕ



reversing the pairs / यॏ৒ख़ ॠ कख़ पलट कर

None of above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­fixing any one link / ोकऺॎ भॎ एक कीॎ कख़ ोफস करकॕ 

15)

Question Stimulus :­

Mechanical

When the chemical potentials of two systems are same, then they are said to be in what type of
equilibrium? / जब दख़ ঋणॊोलयख़ ॠ कॎ रॊऺॊयोनक ঴मतॊ ऺमॊन ऻख़, तख़ उĀ७ ोकऺ ঋकॊर कॊ  ॠऺतॏलन (ऺॊĀॊशĀथॊ) कऻॊ जॊतॊ ऻॖ?

Thermal / थम१ल

Mechanical / यॊॠोআक

Diffusive /  ोशऺरणषॎल

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Diffusive /  ोशऺरणषॎल 

16)

Question Stimulus :­

CANCELLED

Mechanical

When can a piezometer be not used for pressure measurement in pipes / पॊइप म७ दबॊश मॊपनॕ कॕ ोलए
दॊबमॊपॎ यॠআ कॊ उपयख़ग कब नऻॎ ॠ ोकयॊ जॊ ऺकतॊ ऻॖ?

The pressure difference is medium / दबॊश कॊ अॠतर मĀम ऻॖ



The pressure difference is medium / दबॊश कॊ अॠतर मĀम ऻॖ

The velocity is high / गोत उৡ ऻॖ

The fluid in the pipe is a gas / पॊइप म७ तरल गॖऺ ऻॖ

The fluid in the pipe is highly viscous / पॊइप म७ मग़जॐद तरल ोचपोचपॊ ऻॖ

Correct Answer :­The fluid in the pipe is highly viscous / पॊइप म७ मग़जॐद तरल ोचपोचपॊ ऻॖ 

17)

Question Stimulus :­

Mechanical

To avoid cavitation in centrifugal pumps:­ / अपकॕကॎय पॠपख़ ॠ म७ कख़टरण ऺॕ बचनॕ कॕ ोलए:­

Delivery pressure should be low / ঋदॊय दबॊश ोनĀ ऻख़नॊ चॊोऻए

Suction pressure should be low / चॐहक दबॊश ोनĀ ऻख़नॊ चॊोऻए

Suction pressure should be high / चॐहक दबॊश उৡ ऻख़नॊ चॊोऻए

Delivery pressure should be high / ঋदॊय दबॊश उৡ ऻख़नॊ चॊोऻए

Correct Answer :­Suction pressure should be high / चॐहक दबॊश उৡ ऻख़नॊ चॊोऻए 

18)

Question Stimulus :­

Mechanical

Condensing temperature in a refrigerator is the temperature:­ / ोकऺॎ ঋषॎतक म७  ॠऺघनन तॊपमॊन ऻख़तॊ ऻॖ:­



Of freezing zone / ोऻमॎकरण कॊ ঴ॕআ

Of compressor /  ॠऺपॎीक कॊ

At which refrigerant gas becomes liquid /  ोजऺ पर षॎतलक तरल म७ बदल जॊतॊ ऻॖ

Of cooling medium / षॎतलन मॊĀम कॊ

Correct Answer :­At which refrigerant gas becomes liquid /  ोजऺ पर षॎतलक तरल म७ बदल जॊतॊ ऻॖ 

19)

Question Stimulus :­

Mechanical

Which of the following refrigerating plants requires no electricity? / ोनĀ म७ ऺॕ ोकऺ ঋषॎतक ကॊॠट कख़ ोबजलॎ
कॎ जॺरत नऻॎ ॠ ऻख़तॎ ऻॖ?

vapour absorption / शॊĀ अशषख़हण

vapour compression / शॊĀ  ॠऺपॎीन

air­refrigeration / शॊयॏ­ঋषॎतक

vortex tube / चॿॊकॊर Āॐब

Correct Answer :­vortex tube / चॿॊकॊर Āॐब 

20)

Question Stimulus :­

Mechanical



The co­efficient of performance (COP) of a refrigeration system is defined as / षॎतलक ঋणॊलॎ कॕ ঋदष१न
गॏणॊॠक (COP) कख़ ोनĀ ॺप म७ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ

the ratio of the work supplied to the heat absorbed by the system / ঋणॊलॎ ကॊरॊ
अशषख़ोहत ऊĀॊ कॕ ोलए आपॐत१ कॊय१ कॊ अनॏपॊत

the difference of the heat generated in a system to the work supplied / आपॐत१ कॊय१ कॕ
ोलए ঋणॊलॎ म७ उĀॊोदत ऊĀॊ कॊ अॠतर

the product of heat generated in a system to the work done / ोकयॕ गए कॊय१ कॕ ोलए ঋणॊलॎ
म७ उĀॊोदत ऊĀॊ कॊ उĀॊद

the ratio of heat absorbed in a system to the work supplied / आपॐत१ कॊय१ कॕ ोलए ঋणॊलॎ म७
अशषख़ोहत ऊĀॊ कॊ अनॏपॊत

Correct Answer :­the ratio of heat absorbed in a system to the work supplied / आपॐत१ कॊय१ कॕ ोलए ঋणॊलॎ
म७ अशषख़ोहत ऊĀॊ कॊ अनॏपॊत 

21)

Question Stimulus :­

Mechanical

For cutting tool materials, which is the correct order of increasing hot hardness / कॊटनॕ शॊलॕ औजॊर कॎ
ऺॊमঁॎ कॕ ोलए गम१ कठख़रतॊ बुॊनॕ कॊ ोनĀ म७ ऺॕ कग़न ऺॊ ॿम ऺऻॎ ऻॖ?

High speed steel, Carbide, Diamond / उৡ गोत इĀॊत, कॊबॊ१इड, ऻॎरॊ

Carbide, High speed steel, Diamond, / कॊबॊ१इड, उৡ गोत इĀॊत, ऻॎरॊ

Carbide, Diamond, High speed steel / कॊबॊ१इड, ऻॎरॊ, उৡ गोत इĀॊत

Diamond, Carbide, High speed steel / ऻॎरॊ, कॊबॊ१इड, उৡ गोत इĀॊत



Diamond, Carbide, High speed steel / ऻॎरॊ, कॊबॊ१इड, उৡ गोत इĀॊत

Correct Answer :­High speed steel, Carbide, Diamond / उৡ गोत इĀॊत, कॊबॊ१इड, ऻॎरॊ 

22)

Question Stimulus :­

Mechanical

Any point on a link connecting double slider crank chain will trace a:­ / डबल ကॊइडर ॿ॰ क ঒॑ॠखलॊ कख़ जख़ीनॕ
शॊलॎ कीॎ कॕ ोकऺॎ भॎ ोबॠदॏ पर ोनĀ कॊ अनॏरॕखण ोकयॊ जॊएगॊ:­

straight line / ऺॎधॎ रॕखॊ

unpredictable shape / अঋĀॊोषत आकॊर

ellipse / दॎघ१श॑Ā

parabola / अनॏश॑Ā

Correct Answer :­ellipse / दॎघ१श॑Ā 

23)

Question Stimulus :­

Mechanical

Which of these is an example of the inversion of double slider crank chain? / डबल ကॊइडर शॊलॎ ॿ॰ क
(पौरॿमण) ঒॑ॠखलॊ कॊ ोशलख़मन कॊ उदॊऻरण कग़न ऺॊ ऻॖ?

Oscillating cylinder engine / दख़लन ोऺल७डर इॠजन

Pendulum pump / लख़लक पॠप
Elliptical trammels / दॎघ१श॑Āॎय बॊधॊ



Elliptical trammels / दॎघ१श॑Āॎय बॊधॊ

Coupling rod of a locomotive / लख़कख़मख़ोटश यॏ৒न छी

Correct Answer :­Elliptical trammels / दॎघ१श॑Āॎय बॊधॊ 

24)

Question Stimulus :­

Mechanical

A lower pair joint, such as slider, has which of the following types of contact between the two
mating surfaces of the members forming joint? / ကॊइडर जॖऺॕ ोनĀ यॏ৒ जख़ी म७ जख़ी बनॊनॕ शॊलॕ तကख़ॠ कॎ दख़  ॠऺगमन
ऺतऻख़ ॠ कॕ बॎच ोनĀ म७ ऺॕ ोकऺ ঋकॊर कॊ  ॠऺपक१  ऻख़तॊ ऻॖ?

Surface / ऺतऻ

Line / रॕखॊ

Point / ोबॠदॏ

Indirect / अঋĀ঴

Correct Answer :­Surface / ऺतऻ 

25)

Question Stimulus :­

Mechanical

Falling drops of water become spheres due to the property of:­ / पॊनॎ कॎ ोगरतॎ बॐँद७ ोनĀ कॕ मॊन कॕ कॊरण
ऺतऻ कॊ ोनमॊ१ण करतॎ ऻॖ:­



Adhesion / आ ॠऺजन

Surface tension / ऺतऻ तनॊश

Collision / ोभीॠत

Viscosity / Āॊनतॊ

Correct Answer :­Surface tension / ऺतऻ तनॊश 

26)

Question Stimulus :­

Mechanical

The refrigeration effect in a dry evaporator compared to flooded evaporator in a similar plant is:­ /
एक जॖऺॕ ကॊॠट म७ तरल ऺॕ भरॕ शॊ्Āআ कॎ तॏलनॊ म७  ॐऺखॕ शॊ्Āআ यॠআ म७ ঋषॎतक कॊ ঋभॊश ऻख़तॊ ऻॖ|

same / एक ऺमॊन

more / अोधक

less / कम

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­less / कम 

27)

Question Stimulus :­

Mechanical

Which type of gear will be used for non­intersecting perpendicular shafts? / गॖर­पॊरĀौरक अधख़लĀ



Which type of gear will be used for non­intersecting perpendicular shafts? / गॖर­पॊरĀौरक अधख़लĀ
धॏरॎदॠड कॕ ोलए ोकऺ ঋकॊर कॕ दॠतचॿ कॊ उपयख़ग ोकयॊ जॊएगॊ?

helical gears / पॕचदॊर दॠतचॿ

Spur gears / Āर दॠतचॿ

hypoid gears / ऻॊयपख़ड दॠतचॿ

herringbone gears / ऻॕौरॠगबॗन दॠतचॿ

Correct Answer :­hypoid gears / ऻॊयपख़ड दॠतचॿ 

28)

Question Stimulus :­

Mechanical

For riveted joints, the type of joints used  are:­ / कॎलक जख़ी कॕ ोलए जख़ीख़ ॠ कॕ ोकऺ ঋकॊर कॊ उपयख़ग ोकयॊ जॊतॊ
ऻॖ:­

A. Lap joint / पĀॊ जख़ी                    

B. Butt joint / ऻĀॊ जख़ी                   

C. Over lapping joint / अोत आৢॊोदत जख़ी

A only / ए कॕशल

A and B / ए श बॎ

B only / बॎ कॕशल

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­A and B / ए श बॎ 

29)

Question Stimulus :­

Mechanical

What is the use of flux in welding process / झलॊई ঋोॿयॊ म७ ঋशॊऻ कॊ उपयख़ग ভॊ ऻॖ?

Remove oxide of metal formed at high temperature / उৡ तॊपमॊन पर ढलॎ धॊतॏ ऺॕ ऑসॊइड
ऻटॊनॊ

Permit perfect cohesion of metals / धॊतॏओॠ कॎ  ॠऺऺ्ঢ कॕ আॏोटऻॎन अनॏमोत

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above / उपरख़ঢ दख़नख़ ॠ 

30)

Question Stimulus :­

Mechanical

A Pelton wheel with single jet rotates at 600 rpm. The velocity of the jet from the nozzle is 100
m/s. If the ratio of the vane velocity to jet velocity is 0.44, what is the diameter of the Pelton
wheel? /      एकल जॕट शॊलॊ पॕĀन पोऻयॊ ͗͗͝ आरपॎएम पर घॐमतॊ ऻॖ. नख़जल ऺॕ जॕट कॎ गोत ͗͗͘ एम/एऺ ऻॖ. योद फलक शॕग ऺॕ
जॕट शॕग कॊ अनॏपॊत ͗.͛͛ ऻॖ, तख़ पॕĀन पोऻए कॊ ကॊऺ ভॊ ऻॖ?

0.7 m / ͗.͞ एम



1.4 m / ͘.͛ एम

2.1 m / ͙.͘ एम

2.8 m / ͙.͟ एम

Correct Answer :­1.4 m / ͘.͛ एम 

31)

Question Stimulus :­

Mechanical

Projection welding is / ঋ঴ॕपण झलॊई ऻॖ:

multi­spot welding process / बॽ­঴ॕআ झलॊई ঋोॿयॊ

continuous spot welding process / ऺतत ঴ॕআ झलॊई ঋोॿयॊ

used to form mesh / जॊलॎ बनॊनॕ ऻॕतॏ उपयख़ग

used to make cantilevers / बॽधॊरण बनॊनॕ म७ उपयख़ग ऻॕतॏ

Correct Answer :­multi­spot welding process / बॽ­঴ॕআ झलॊई ঋोॿयॊ 

32)

Question Stimulus :­

Mechanical

In an absorption refrigeration system, which of the following components remove any traces of the
water from the refrigerant? / अशषख़हण ঋषॎतन ঋणॊलॎ म७ ोनĀ म७ ऺॕ कग़न ऺॊ अशयश ঋषॎतक ऺॕ पॊनॎ कॕ ोकऺॎ भॎ अॠष कख़
ऻटॊ दॕतॊ ऻॖ?



condenser / पौरकोलআ

generator / जोनআ

rectifier /  ॠऺषख़धक

absorber / अशषख़हक

Correct Answer :­rectifier /  ॠऺषख़धक 

33)

Question Stimulus :­

Mechanical

The device, mounted on a lathe which can be swivelled to any angle in the horizontal plane to
facilitate the taper turning and the thread cutting operations, is known as:­ / खरॊद पर आॺु उपकरण
ोजऺॕ षॠकॏ  कख़ मख़ीनॕ और धॊगॕ कख़ कॊटनॕ कॎ  ॏऺोशधॊ ऻॕतॏ ঴ॖोतज ऺतऻ म७ ोकऺॎ भॎ कख़ण पर मख़ीॊ जॊ ऺकतॊ ऻॖ, उऺॕ कऻॊ जॊतॊ ऻॖ:­

Headstock / ऻॕडĀॗक

Saddle / जॎन

Apron / तऻबĀ

Compound Rest / यग़ोगक अशषॕह

Correct Answer :­Compound Rest / यग़ोगक अशषॕह 

34)

Question Stimulus :­



Mechanical

For a radial ball bearing, for a speed of 600 rpm and radial load of 5kN, the desired rated life is
10000 hrs. What will be the basic load rating? / अध१ကॊऺॎ ग७द बॕौरॠग कॕ ोलए ͗͗͝ आरपॎएम गोत और अध१ကॊऺॎ भॊर
͜कॕएन ऻॖ, शॊॠोछत दर जॎशन ͗͗͗͗͘ घॠटॕ ऻॖ. आधॊरभॐत भॊर दर ভॊ ऻख़गॎ?

30.6 kN / ͚͗.͝ कॕएन

25.6 kN / ͙͜.͝ कॕएन

39.6 kN / ͚͠.͝ कॕएन

35.6 kN / ͚͜.͝ कॕएन

Correct Answer :­35.6 kN / ͚͜.͝ कॕएन 

35)

Question Stimulus :­

Mechanical

In an evaporative condenser, the rate at which the water evaporates depends upon the:­ / शॊĀॎकरण
कॕ  ॠऺघोनআ म७ जल कॕ शॊĀॎक॑त ऻख़नॕ कॎ दर ोनĀ पर ोनभ१र ऻख़तॎ ऻॖ:­

dry bulb temperature / षॏĀ बĀ तॊपमॊन

wet bulb temperature / आঈ बĀ तॊपमॊन

sensible heat /  ॠऺशॕदॎ ऊĀॊ

dry bulb & wet bulb temperature and sensible heat / षॏĀ बĀ श आঈ बĀ तॊपमॊन तथॊ
ॠऺशॕदॎ ऊĀॊ



Correct Answer :­wet bulb temperature / आঈ बĀ तॊपमॊन 

36)

Question Stimulus :­

Mechanical

Free surface of a liquid tends to contract to the smallest possible area due to force of:­ / ोनĀ कॕ बल कॕ
कॊरण तरल कॎ मॏঢ ऺतऻ  ॠऺभॊोशत ऺबऺॕ छख़टॕ ঴ॕআ कॊ  ॠऺकॏ चन करतॎ ऻॖ:­

Adhesion / आ ॠऺजन

Viscosity / Āॊनतॊ

Gravity / गॏॹကॊकह१ण

Surface tension / ऺतऻ तनॊश

Correct Answer :­Surface tension / ऺतऻ तनॊश 

37)

Question Stimulus :­

Mechanical

Where is autocollimator used? / ऑटख़कख़लॎमॕटर कॊ उपयख़ग कऻॊँ ोकयॊ जॊतॊ ऻॖ?

Straightness measurement / ऺॎधॎ मॊप

Flatness measurement / ऺमतल मॊप

Angular measurement  / कख़णॎय मॊप



Parallelism measurement / ऺमॊॠतर मॊप

Correct Answer :­Angular measurement  / कख़णॎय मॊप 

38)

Question Stimulus :­

Mechanical

What is the purpose of using a ratchet screw in the micrometer screw gauge? / मॊइॿख़मॎटर प७च ঋमॊपक
म७ षॊĀ प७च कॕ उपयख़ग कॊ ভॊ उĀॕĀ ऻॖ?

To maintain uniform measuring pressure / ोशोषĀ मॊपन दबॊश कॊयम करनॕ कॕ ोलए

To reduce wear of screw threads / प७च धॊगॕ कॎ रगी कख़ कम करनॕ कॕ ोलए

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­To maintain uniform measuring pressure / ोशोषĀ मॊपन दबॊश कॊयम करनॕ कॕ ोलए 

39)

Question Stimulus :­

Mechanical

The overall efficiency of thermal power plant is function of / तॊप ोशद्यॏ त्  ॠऺयॠআ कॎ  ॠऺपॐण१ कॊय१঴मतॊ ोनĀ कॊ कॊय१
ऻॖ

Boiler efficiency, turbine efficiency and generator efficiency / রथोनআ (भĀॎ), टरबॊइन
঴मतॊ श जोनআ कॊय१঴मतॊ



Boiler efficiency, turbine efficiency, generator efficiency and gas cycle efficiency /
রथोनআ (भĀॎ), टरबॊइन ঴मतॊ श जोनআ कॊय१঴मतॊ श गॖऺ चॿ कॊय१঴मतॊ

Carnot cycle efficiency / कॊनॳ चॿ कॊय१঴मतॊ

Regenerative cycle efficiency / पॏनॏॹĀॊद्क चॿ कॊय१঴मतॊ

Correct Answer :­Boiler efficiency, turbine efficiency and generator efficiency / রथोनআ (भĀॎ), टरबॊइन
঴मतॊ श जोनআ कॊय१঴मतॊ 

40)

Question Stimulus :­

Mechanical

A heat engine has thermal efficiency of 30%. If the input is 20000 J/s, what will be the output
given by heat engine / ऊĀॊ इॠजन कॎ थम१ल कॊय१঴मतॊ ͚͗% ऻॖ. योद इनपॏट ͙0000 जॕ/एऺ ऻॖ, तख़ ऊĀॊ इॠजन ကॊरॊ ोदयॊ
गयॊ पौरणॊम ভॊ ऻख़गॊ?

4500 W / ͛͗͜ शॊट

8000 W / ͗͗͗͟ शॊट

2500 W / ͙͗͗͜ शॊट

6000 W / ͗͗͗͝ शॊट

Correct Answer :­6000 W / ͗͗͗͝ शॊट 

41)

Question Stimulus :­



Mechanical

Which of the following operations is typically not performed using a drilling machine? / ोनĀ म७ ऺॕ कग़न
ऺॊ कॊय१ छॕदन (ोड३ ोलॠग) यॠআ कॕ उपयख़ग ऺॕ आमतग़र पर नऻॎ ॠ ोकयॊ जॊतॊ ऻॖ?

Spot facing / Āथल कॕ ऺॊमनॕ

Reaming / ोनचख़ीनॊ

Lapping / टकरॊनॊ

Tapping / दख़ऻन

Correct Answer :­Lapping / टकरॊनॊ 

42)

Question Stimulus :­

Mechanical

Which gas obeys the kinetic theory perfectly? / कग़न ऺॎ गॖऺ गोतक ोऺĀॊॠत कॊ पॐरॎ तरऻ अनॏऺरण करतॎ ऻॖ?

Real gas / शॊĀोशक गॖऺ

Perfect gas / আॏोटऻॎन गॖऺ

Pure gas / षॏĀ गॖऺ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Perfect gas / আॏोटऻॎन गॖऺ 

43)



Question Stimulus :­

Mechanical

In piping industry, what does PVC stand for:­ / पॊइोपॠग उĀख़ग म७ पॎशॎऺॎ कॊ अथ१ ভॊ ऻख़तॊ ऻॖ?

plastic vinyl chloride / ကॊ्Āक ोशनॊइल মख़रॊइड

plastic vinyl coated / ကॊ्Āक ोशनॊइल कख़टॕड

polyvinyl coated / पख़लॎोशनॊइल कख़टॕड

polyvinyl chloride / पख़लॎ ोशनॊइल মख़रॊइड

Correct Answer :­polyvinyl chloride / पख़लॎ ोशनॊइल মख़रॊइड 

44)

Question Stimulus :­

Mechanical

To get supersonic velocity of steam at nozzle exit with a large pressure drop across it, the duct
must: / नख़जल ोनकॊऺ पर इऺकॕ ऺमĀ भॊग पर ोशĀ॑त दबॊब बॐँद कॕ ऺॊथ शॊĀ कॎ अोतउৡ गोत ঋॊĀ करनॕ कॕ ोलए, नोलकॊ ऻख़नॎ
चॊोऻए:

Which one of the following is the correct statement? / ोनĀ म७ ऺॕ कग़न ऺॊ कथन ऺऻॎ ऻॖ?

converge from inlet to exit / ঋशॕष ऺॕ ोनकॊऺॎ तक पॽँच

diverge from inlet to exit / ঋशॕष ऺॕ ोनकॊऺॎ तक ोछतरॊश

first converge to the throat and then diverge till exit / पऻलॕ कॠ ठ तक पॽँच ोफर ोनकॊऺ तक
ोछतरॊश



remain constant in cross­section / ॿॗऺ अनॏभॊग म७ ऺतत

Correct Answer :­first converge to the throat and then diverge till exit / पऻलॕ कॠ ठ तक पॽँच ोफर ोनकॊऺ तक
ोछतरॊश 

45)

Question Stimulus :­

Mechanical

Residual stress in materials:­ / शĀॏओॠ म७ अशोषĀ तनॊश:­

Is independent of external loads / बॊऻरॎ भॊर Āतॠআ ऻॖ

Acts when external load is applied / बॊऻरॎ भॊर पीनॕ पर कॊम करतॊ ऻॖ

Becomes zero when external load is removed / बॊऻरॎ भॊर ऻटॊनॕ पर षॐက ऻख़ जॊतॊ ऻॖ

Is always harmful / ऻमॕषॊ ऻॊोनकॊरक ऻख़तॊ ऻॖ

Correct Answer :­Is independent of external loads / बॊऻरॎ भॊर Āतॠআ ऻॖ 

46)

Question Stimulus :­

Mechanical

Ratio of inertia force to surface tension is known as:­ / ऺतऻ तनॊश पर जीतॊ बल कॕ अनॏपॊत कख़ ोनĀ कॕ ॺप म७
जॊनॊ जॊतॊ ऻॖ:­

Mach number / मॖक  ॠऺূॊ

Froude number / ঌग़डॕ  ॠऺূॊ



Reynold’s number / रॕनख़Ā कॎ  ॠऺূॊ

Weber’s number / शॕबर कॎ  ॠऺূॊ

Correct Answer :­Weber’s number / शॕबर कॎ  ॠऺূॊ 

47)

Question Stimulus :­

Mechanical

CIM stands for: / ऺॎआईएम कॊ अथ१ ऻख़तॊ ऻॖ:

Computer integrated machinery / कॠ Āॐटर एकॎक॑त तॠআ

Computer integrated manufacturing / कॠ Āॐटर एकॎक॑त ोनमॊ१ण

Computers in manufacturing / ोनमॊ१ण म७ कॠ Āॐटर

Commonly integrated mechanisms / आमतग़र पर एकॎक॑त तॠআ

Correct Answer :­Computer integrated manufacturing / कॠ Āॐटर एकॎक॑त ोनमॊ१ण 

48)

Question Stimulus :­

CANCELLED

Mechanical

In the shown figure, if the angle of inclination of the plane is increased, then the acceleration of the
system will:­ / ोदखॊई गई आक॑ोत म७ योद ऺतऻ कॕ झॏकॊश कॊ कख़ण बीॊ ऻख़, तख़ ঋणॊलॎ कॊ ကरण ऻख़गॊ?



Remain the same / शऻॎ रऻॕगॊ

Decrease / घटॕगॊ

Increase / बुॕगॊ

No change / कख़ई बदलॊश नऻॎ ॠ

Correct Answer :­Decrease / घटॕगॊ 

49)

Question Stimulus :­

Mechanical

Which of the following forging process necessarily increases the diameter of the work­piece by
compressing its length? / ोनĀ म७ ऺॕ कग़न ऺॎ ढलॊई ঋोॿयॊ कॊय१ भॊग कॊ ကॊऺ उऺकॎ लॠबॊई  ॠऺपॎोीत करकॕ बुॊ दॕतॎ ऻॖ?

Hot forging / गम१ ढलॊई

Roll forging / लॏढकॊश (रख़ल) ढलॊई

Upset forging / उĀॎ ढलॊई

Press forging / दॊब ढलॊई

Correct Answer :­Upset forging / उĀॎ ढलॊई 

50)

Question Stimulus :­

Mechanical

According to Hookes law, stress and strain:­ / ॽक कॕ ोनयम कॕ अनॏऺॊर तनॊश और ्खॠचॊश ऻॖ:­



According to Hookes law, stress and strain:­ / ॽक कॕ ोनयम कॕ अनॏऺॊर तनॊश और ्खॠचॊश ऻॖ:­

Have unpredictable relationship / अঋĀॊोषत  ॠऺबॠध ऻख़तॊ ऻॖ

Are directly proportional / ঋĀ঴ ऺॊनॏपॊोतक ऻॖ

Are inversely proportional / ကॏĀमॊनॏपॊतॎ ऺॊनॏपॊोतक ऻॖ

Are curvilinear related / शॿ रॕखॎय  ॠऺबॠधॎ ऻॖ

Correct Answer :­Are directly proportional / ঋĀ঴ ऺॊनॏपॊोतक ऻॖ 

51)

Question Stimulus :­

CANCELLED

Mechanical

In annealing heat treatment process, the hypo­eutectoid steel is:­ / ऊĀॊ उपचॊर ঋोॿयॊ अोनोलन म७ ऻॊइपख़­
यॐटॕकटख़यड (कॊब१न ोमो঒त इĀॊत) इĀॊत ऻख़तॎ ऻॖ:­

Heated from 40° C to 50° C above the critical temperature and then cooled slowly in
the furnace / ͛͗° C ऺॕ ͗͜° ऺॕ. तॊपमॊन पर गम१ कॎ गई और भĀॎ म७ धॎरॕ­धॎरॕ ठॠ डॎ कॎ गई

Heated from 40° C to 50° C above the upper critical temperature and then cooled
suddenly in a suitable cooling medium / ͛͗° C ऺॕ ͗͜° ऺॕ. ऺॕ ऊपर कॕ तॊपमॊन पर गम१ कॎ गई और
अचॊनक उपयॏঢ ठॠ डॕ मॊĀम पर ठॠ डॎ कॎ गई

Heated from 40° C to 50° C below the critical temperature and then cooled in still air
/ ͛͗° ऺॕ ͗͜°  ७ऺटॎঁॕट ऺॕ कम तॊपमॊन पर गम१ कॎ गई और ोफर ्Āथर ऻशॊ पर ठॠ डॎ कॎ गई

Heated below or close to the lower critical temperature and then cooled slowly / ोनĀ
मऻကपॐण१ तॊपमॊन पर यॊ उऺऺॕ कम पर गम१ कॎ गई और ोफर धॎरॕ ठॠ डॎ कॎ गई



मऻကपॐण१ तॊपमॊन पर यॊ उऺऺॕ कम पर गम१ कॎ गई और ोफर धॎरॕ ठॠ डॎ कॎ गई

Correct Answer :­Heated below or close to the lower critical temperature and then cooled slowly /
ोनĀ मऻကपॐण१ तॊपमॊन पर यॊ उऺऺॕ कम पर गम१ कॎ गई और ोफर धॎरॕ ठॠ डॎ कॎ गई 

52)

Question Stimulus :­

Mechanical

Under which loading condition, brittle material will generally fail along surfaces forming 45° angle
with longitudinal axis? / भॊर कॎ ोकऺ ्Āथोत म७ भॠगॏर ऺॊमঁॎ ऺॊमကतॊ ऺतऻ पर अ঴रॕखॎय धॏरॎ कॕ ऺॊथ ͛͜° कॊ कख़ण
बनॊकर अऺफल ऻख़ जॊएगॎ?

Tension / तनॊश

Torsion / एॠ ठन

Compression /  ॠऺपॎीन

Any one of the above / उपरख़ঢ म७ ऺॕ कख़ई एक

Correct Answer :­Torsion / एॠ ठन 

53)

Question Stimulus :­

Mechanical

A body is resting on a plane inclined at angle 30° to horizontal. What force would be required to
slide it down, if the coefficient of friction between body and plane is 0.3? / एक ढॊॠचॊ ঋश॑त तॊल पर ঴ॖोतज
͚͗° कख़ण पर ्Āथर ऻॖ, इऺॕ नॎचॕ कॎ और झॏकॊनॕ कॕ ोलए ভॊ बल जॺरॎ ऻख़गॊ, योद ोपॠड और तल कॕ बॎच घह१ण कॊ गॏणॊॠक ͗.͚ ऻॖ?



5 kg / ͜ ोक.ঁॊ.

Zero / षॐက

1 kg. / ͘ ोक.ঁॊ.

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Zero / षॐက 

54)

Question Stimulus :­

Mechanical

If the force of buoyancy is less than the weight of the liquid displaced then the body: / योद
ကशनषॎलतॊ कॊ बल ोशĀथॊोपत तरल कॕ भॊर ऺॕ कम ऻख़ तख़ ोपॠड:

will float / तॖरॕगॊ

will sink down / नॎचॕ डॐ ब जॊएगॊ

will be submerged / जलम্ ऻख़ जॊएगॊ

All of above / उपरख़ঢ ऺभॎ

Correct Answer :­will sink down / नॎचॕ डॐ ब जॊएगॊ 

55)

Question Stimulus :­

Mechanical



The volumetric change of the fluid caused by a resistance is known as:­ / ঋोतरख़ध कॕ कॊरण ऻख़नॕ शॊलॊ तरल
कॊ अनॏमॊपॎ पौरशत१न कऻलॊतॊ ऻॖ|

volumetric strain / अनॏमॊपॎ (आयतनॎ) तनॊश

volumetric index / अनॏमॊपॎ  ॐऺचॎ

compressibility /  ॠऺपॎीयतॊ

Stress / तनॊश

Correct Answer :­compressibility /  ॠऺपॎीयतॊ 

56)

Question Stimulus :­

Mechanical

If a light and a heavy body have equal kinetic energy of translation, then:­ / योद ऻĀॕ और भॊरॎ ोपॠड म७
अनॏशॊद कॎ गोतज ऊजॊ१ ऺमॊन ऻॖ, तख़:­

Heavy body will have smaller momentum / भॊरॎ ोपॠड कॊ  ॠऺशॕग छख़टॊ ऻख़गॊ

Lighter body will have smaller momentum / ऻĀॕ ोपॠड कॊ  ॠऺशॕग छख़टॊ ऻख़गॊ

Both will have same momentum / दख़नख़ ॠ कॊ  ॠऺशॕग ऺमॊन ऻख़गॊ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Lighter body will have smaller momentum / ऻĀॕ ोपॠड कॊ  ॠऺशॕग छख़टॊ ऻख़गॊ 

57)



Question Stimulus :­

Mechanical

In an IC engine, the function of the governor is to control which of the following? / एक आईऺॎ इॠजन म७
ोनयॠআक कॊ कॊय१ ोनĀ म७ ऺॕ ोकऺॕ ोनयॠोআत करनॊ ऻख़तॊ ऻॖ?

Maximum speed / अोधकतम गोत

Mean speed  / मॊĀ गोत

Engine temperature / इॠजन तॊपमॊन

Load fluctuations / भॊर उतॊर­चुॊश

Correct Answer :­Load fluctuations / भॊर उतॊर­चुॊश 

58)

Question Stimulus :­

Mechanical

Half corner weld is used / अĀ१ कख़ण  ॠऺधॊन कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ:

where longitudinal shear is present / जऻॊँ दॕषॠतॊरॎय परत ोशĀमॊन ऻख़

where severe loading is encountered and the upper surfaces of both pieces must be
in the same plane / जऻॊँ तॎ঑ लख़ोडॠग ऻख़ और दख़नख़ ॠ भॊगख़ ॠ कॎ ऊपरॎ ऺतऻ एक ऻॎ तऻ पर ऻख़ ॠ

to join two pieces of metal in the same manner as rivet joint metals / ौरशॕट  ॠऺयॏঢ धॊतॏओॠ
कॎ तरऻ धॊतॏ कॕ दख़ भॊगख़ ॠ कख़ एक ऻॎ ঋकॊर ऺॕ जख़ीनॕ कॕ ोलए

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 

59)

Question Stimulus :­

Mechanical

Which of the following is an impulse turbine / ोनĀ म७ ऺॕ कग़न ऺॊ आशॕग टरबॊइन ऻॖ?

Kaplan Turbine / कကन टरबॊइन

Pelton Wheel / पॕĀन पोऻयॊ

Francis Turbine / ঌॊॠोऺऺॎ टरबॊइन

All of above / उपरख़ঢ ऺभॎ

Correct Answer :­Pelton Wheel / पॕĀन पोऻयॊ 

60)

Question Stimulus :­

Mechanical

When work piece is fed in the same direction as that of the cutter tooth at the point of contact, that
type of milling is known as:­ / जब कॊय१ भॊग उऺॎ ोदषॊ म७ ो ॠऺोचत ऻख़तॊ ऻॖ ोजऺम७ कटर दॠत  ॠऺपक१  ोबॠदॏ पर ऻख़, इऺ ঋकॊर कॕ
पॕहण कख़ ोनĀ ॺप म७ जॊनॊ जॊतॊ ऻॖ:­

Down milling / ोनचलॊ पॕहण

Up milling / ऊपरॎ पॕहण

Slot milling / खॊॠचॊ पॕहण



Slab milling / खॠड पॕहण

Correct Answer :­Down milling / ोनचलॊ पॕहण 

61)

Question Stimulus :­

Mechanical

Which of the following is not thermoplastic material? / ोनĀ म७ ऺॕ ভॊ थमॊ१ကॊ्Āक ऺॊमঁॎ नऻॎ ॠ ऻॖ?

Polystyrene / पख़लॎĀॎरॎन

Polypropylene / पख़लॎঋख़ोपलॎन

Polyethylene / पख़लॎोथलॎन

Polyvinyl chloride / पख़लॎोशनॊइल মख़रॊइड

Correct Answer :­Polyethylene / पख़लॎोथलॎन 

62)

Question Stimulus :­

Mechanical

A mechanical part, which has a socket at one or both ends that allows two pipes or tubes to be
welded, brazed or soldered together, is commonly known as:­ / मॖकॕोनकल भॊग ोजऺकॕ एक यॊ दख़नख़ ॠ ोऺरख़ ॠ पर
गोत१कॊ ऻख़तॎ ऻॖ, ोजऺकॕ मॊĀम ऺॕ दख़ पॊइपख़ ॠ यॊ नोलकॊओॠ कख़ जख़ीॊ, टॊॠकॊ यॊ ऺॊथ म७ ऺयॏॠঢ ोकयॊ.जॊतॊ ऻॖ, शऻ आमतग़र पर कऻलॊतॊ
ऻॖ|

elbow / कख़ऻनॎ



tee / टॎ

plug / ကग

coupling / यॏ৒न

Correct Answer :­coupling / यॏ৒न 

63)

Question Stimulus :­

Mechanical

A refrigerator works on reversed Carnot cycle producing a temperature of – 40°C. Work done per
TR is 700 kJ per ten minutes. What is the value of its COP? / एक ঋषॎतक उĀॕ कॊनॳ चॿ पर कॊम करतॊ ऻॖ जख़
͛͗°ऺॕ्ကयऺ तॊपमॊन उĀĀ कर रऻॊ ऻॖ. ঋोत टॎआर ोकयॊ जॊनॕ शॊलॊ कॊय१ ঋोत दऺ ोमनट ͗͗͞ कॕजॕ. इऺकॕ ऺॎओपॎ कॊ मॊन ভॊ ऻॖ?

3 / ͚

4.5 / ͛.͜

5.8 / ͜.͟

7.0 / ͞.͗

Correct Answer :­3 / ͚ 

64)

Question Stimulus :­

Mechanical

In an I.C. engine, the connecting rod connects which of the following pair of parts? / आईऺॎ इॠजन म७
ॠऺयख़जन छी ोनĀ म७ ऺॕ यॏ৒ कॕ ोकऺ भॊग कख़ जख़ीतॎ ऻॖ?



ॠऺयख़जन छी ोनĀ म७ ऺॕ यॏ৒ कॕ ोकऺ भॊग कख़ जख़ीतॎ ऻॖ?

Piston and crankshaft / ोपĀन श ॿ७ क धॏरॎदॠड

Cylinder and crankshaft / ोऺल७डर श ॿ७ कधॏरॎदॠड

Cylinder and piston / बॕलन श ोपĀन

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Piston and crankshaft / ोपĀन श ॿ७ क धॏरॎदॠड 

65)

Question Stimulus :­

Mechanical

Which of the following is not a part of a micrometre? / ोनĀ म७ ऺॕ ভॊ मॊइॿख़मॎटर कॊ भॊग नऻॎ ॠ ऻॖ?

Anvil / ोनऻॊई

Thimble / अॠगॏĀॊनॊ

Sleeve / बॊजॐ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 

66)

Question Stimulus :­



Mechanical

Heat transfer by radiation mainly depends upon / ोशोकरण ကॊरॊ ऊĀॊ कॊ ऻĀॊॠतरण मॏূ ॺप ऺॕ ोनĀ पर ोनभ१र
ऻख़तॊ ऻॖ

its temperature / उऺकॊ तॊपमॊन

nature of the body / ोपॠड कॎ ঋक॑ोत

kind and extent of its surface / उऺकॎ ऺतऻ कॕ ঋकॊर और ঋऺॊर

all of these / यॕ ऺभॎ

Correct Answer :­all of these / यॕ ऺभॎ 

67)

Question Stimulus :­

Mechanical

Manganese in steel increases its: / इĀॊत म७ मॖगनॎज ऺॕ इऺकॎ बु जॊतॎ ऻॖ:

tensile strength / तनन ष्ঢ

hardness / कठख़रतॊ

ductility / म॑दॏतॊ

Conductivity / ঋशॊऻकက

Correct Answer :­tensile strength / तनन ष्ঢ 

68)



Question Stimulus :­

Mechanical

The power transmitted by a belt is maximum when the maximum tension in a belt is equal to:­ / पĀॊ
ကॊरॊ ঋॕोहत कॎ जॊनॕ शॊलॎ ष्ঢ अोधकतम ऻख़तॎ ऻॖ जब पĀॊ म७ अोधकतम तनॊश ोनĀ कॕ बरॊबर ऻख़तॊ ऻॖ:­

3.5 times Centrifugal Tension / ͚.͜ गॏनॊ अपक७ ঈॎ तनॊश

2 times Centrifugal Tension / ͙ गॏनॊ अपकॕကॎ तनॊश

3 times Centrifugal Tension / ͚ गॏनॊ अपकॕကॎ तनॊश

2.5 times Centrifugal Tension / ͙.͜ गॏनॊ अपकॕကॎ तनॊश

Correct Answer :­3 times Centrifugal Tension / ͚ गॏनॊ अपकॕကॎ तनॊश 

69)

Question Stimulus :­

Mechanical

The MKS unit of diffusion coefficient is:­ / ঋऺॊर गॏणॊॠक कॎ एमकॕएऺ इकॊई ऻॖ:­

m2 s1

m2 s–1

m2 s2

m2 s–2

Correct Answer :­m2 s–1 



70)

Question Stimulus :­

Mechanical

A milling machine has metal removal rate 25 cm3/min for a steel workpiece. The depth of cut is
4.5mm and the width of cut is 90mm. What will be the required table feed? / इĀॊत कॊय१भॊग कॕ ोलए एक
पॕहण यॠআ कॎ धॊतॏ ऻटॊनॕ कॎ दर ͙͜ ऺॕ.मॎ.3/ोम. ऻॖ. छॕद कॎ गऻरॊई ͛.͜ एमएम और चग़ीॊई ͗͠ एमएम ऻॖ. आशĀक तॊोलकॊ भरण ভॊ
ऻख़गॊ?

51.7 mm/min / ͘͜.͞ एमएम/ोम.

65.4 mm/min / ͜͝.͛ एमएम/ोम.

45.8 mm/min / ͛͜.͟ एमएम/ोम.

61.7 mm/min / ͘͝.͞ एमएम/ोम.

Correct Answer :­61.7 mm/min / ͘͝.͞ एमएम/ोम. 

71)

Question Stimulus :­

Mechanical

The operation of finishing a drilled hole to its right size is known as:­ / ऺऻॎ आकॊर म७ छॕदक छॕद कख़ पॐण१
करनॕ कॎ ঋोॿयॊ कऻलॊतॎ ऻॖ:­

Reaming / ोनचख़ीनॊ

Counter boring / ঋोतधॏरॎ बख़ौरॠग



Boring / शॕधन

Tapping / दख़ऻन

Correct Answer :­Reaming / ोनचख़ीनॊ 

72)

Question Stimulus :­

Mechanical

The value of acceleration due to gravity at poles as compared to at equator is:­ / भॐचॿ कॎ तॏलनॊ म७ खॠभॕ
पर गॏॹကॊकह१ण कॕ कॊरण ကरण कॊ मॊन ऻख़तॊ ऻॖ:­

Same / बरॊबर

Lesser / कम

Greater  / अोधक

Unpredictable / अঋĀॊोषत

Correct Answer :­Greater  / अोधक 

73)

Question Stimulus :­

Mechanical

The basis for measuring thermodynamic property of temperature is given by:­ / ोदए गए तॊपमॊन कॕ
ऊĀॊगोतकॎ (ऊĀঋशॖोगकॎ) मॊन कख़ मॊपनॕ कॊ आधॊर ोनĀ कॕ ကॊरॊ ऻॖ:­

zeroth law of thermodynamics / ऊĀॊगोतकॎ कॊ िॕरख़थ ोनयम



first law of thermodynamics / ऊĀॊगोतकॎ कॊ ঋथम ोनयम

second law of thermodynamics / ऊĀॊगोतकॎ कॊ दॐ ऺरॊ ोनयम

third law of thermodynamics  / ऊĀॊगोतकॎ कॊ त॑तॎय ोनयम

Correct Answer :­zeroth law of thermodynamics / ऊĀॊगोतकॎ कॊ िॕरख़थ ोनयम 

74)

Question Stimulus :­

Mechanical

Welding process in which two pieces to be jointed are overlapped and placed between two
electrodes is known as:­ / झलॊई ঋोॿयॊ ोजऺम७ दख़ भॊग जॏीकर आৢॊोदत ऻख़ जॊतॕ ऻ॰ और दख़ ोशद्यॏ दঁ कॕ मĀ रख ोदए जॊतॕ
ऻ॰, कख़ ोनĀ कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ:­

Percussion welding / आघॊत झलॊई

Spot welding / Āॗट झलॊई

Seam welding / ऺॎशन झलॊई

Projection welding / ঋ঴ॕपण झलॊई

Correct Answer :­Spot welding / Āॗट झलॊई 

75)

Question Stimulus :­

Mechanical

The essential elements of gating system for sand casting are:­ / बॊलॐ ढलॊई (कॊ्Āॠग) कॕ ोलए गोटॠग ঋणॊलॎ म७
अऻम तက ऻॖ:­



अऻम तက ऻॖ:­

Gates / ကॊर

Pouring basin /  घनॊ बॕोऺन

Riser / लऻरदॊर

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

76)

Question Stimulus :­

Mechanical

Which of the following is not a type of industrial forging? / ोनĀ म७ ऺॕ ভॊ औĀख़ोगक ढलॊई (फख़ोज४ग) कॊ एक
ঋकॊर नऻॎ ॠ ऻॖ?

Drop forging / छॎ ॠट ढलॊई

Roll forging / लॏढकॊश ढलॊई

Blast forging / ोशĀख़ट ढलॊई

Upset forging / उĀॎ ढलॊई

Correct Answer :­Blast forging / ोशĀख़ट ढलॊई 

77)

Question Stimulus :­



Mechanical

An aluminium cube of 20 cm side has to be cast along a cylindrical riser. If the volume shrinkage
during solidification is 6%, what will be shrinkage volume of cube after solidification? / ͙͗ ऺॕमॎ प঴
शॊलॕ एलॏोमोनयम घन कख़ बॕलनॊकॊर उभॊर कॕ ऺॊथ बनॊयॊ जॊनॊ ऻॖ. योद घनॎकरण कॕ दग़रॊन आयतन ͝% ोऺकॏ ी जॊतॊ ऻॖ, तख़ ोऺकॏ ीनॕ
कॕ बॊद घन कॊ अशमॐĀन आयतन ভॊ ऻख़गॊ?

400 cm3 / ͛͗͗

480 cm3 / ͛͗͟ cm3

410 cm3 / ͛͗͘ cm3

580 cm3 / ͗͜͟ cm3

Correct Answer :­480 cm3 / ͛͗͟ cm3 

78)

Question Stimulus :­

Mechanical

For the same power developed in I.C. engines, the cheaper system is:­ / एक ऺमॊन पॗशर ऺॕ ोशकोऺत आईऺॎ
कॕ ोलए ऺĀॎ ঋणॊलॎ ऻॖ:­

Pressurised system / दबॊशयॏঢ ঋणॊलॎ

supercharged / अĀोधक ঋभॊशकॊरॎ

centrifugal pump / अपक७ ঈॎ पॠप

turbo charger / टबॳ चॊज१र



Correct Answer :­supercharged / अĀोधक ঋभॊशकॊरॎ 

79)

Question Stimulus :­

Mechanical

Surface energy per unit area of a surface is numerically equal to:­ / ऺतऻ कॊ ऺतऻ ऊजॊ१ ঋोत इकॊई ঴ॕআफल
ॠऺূॊनॏऺॊर ोनĀ कॕ बरॊबर ऻख़तॊ ऻॖ|

Elasticity / लचॎलॊपन

surface tension / ऺतऻ तनॊश

force of adhesion / आ ॠऺजन कॊ बल

force of cohesion /  ॠऺष्ঢ बल

Correct Answer :­surface tension / ऺतऻ तनॊश 

80)

Question Stimulus :­

Mechanical

What is the type of milling, which produces irregular profiles using suitable cutters? / पॕहण कॊ कग़न ऺॊ
ঋकॊर ऻॖ जख़ उपयॏঢ छॕदक कॊ उपयख़ग करकॕ अोनयोमत ॺपरॕखॊ कॊ ोनमॊ१ण करतॊ ऻॖ?

Slab milling / खॊॠचॊ पॕहण

Slot milling / खॠड पॕहण

Cut milling / छॕद पॕहण
Form milling / फॗम१ पॕहण



Form milling / फॗम१ पॕहण

Correct Answer :­Form milling / फॗम१ पॕहण 

81)

Question Stimulus :­

Mechanical

Distortion in welding occurs due to:­ / झलॊई म७ ोशॺपण ोकऺ कॊरण ऻख़तॊ ऻॖ:­

Oxidation of weld pool / झलॊई पॐल कॕ ऑসॎकरण कॕ कॊरण

Improper clamping methods  / जख़ीनॕ कॎ अनॏोचत ोशोध

High current / उৡ करॠट

Use of wrong electrodes / गलत ोशद्यॏ दঁ कॊ उपयख़ग

Correct Answer :­Improper clamping methods  / जख़ीनॕ कॎ अनॏोचत ोशोध 

82)

Question Stimulus :­

Mechanical

In a slider crank mechanism, length of crank and connecting rod are 0.15m and 0.75m respectively.
The crank position is 30°C from inner dead center. If the crank rotates at 500 rpm, what will be
angular velocity of connecting rod? / ကॊइडर ॿ॰ क यॠআ म७ ॿ॰ क और  ॠऺयख़जन छी कॎ लॠबॊई ॿमषॡ ͗.͘͜ एम और ͗.͜͞
एम ऻॖ. आॠतौरक अॠत क७ ঈ ऺॕ ॿ॰ क कॎ ्Āथोत ͚͗°C ऻॖ. योद ॿ॰ क ͗͗͜ आरपॎएम पर घॐमतॎ ऻॖ, तख़  ॠऺयख़जन छी कॎ कख़णॎय गोत ভॊ
ऻख़गॎ?

1.61 rad/s / ͘.͘͝ आरएडॎ/एऺ



2.5 rad/s / ͙.͜ आरएडॎ/एऺ

1.1 rad/s / ͘.͘ आरएडॎ/एऺ

5.2 rad/s / ͜.͙ आरएडॎ/एऺ

Correct Answer :­1.61 rad/s / ͘.͘͝ आरएडॎ/एऺ 

83)

Question Stimulus :­

Mechanical

A ball is resting on two planes OA and OB inclined at 30o and 45o respectively as shown in the
figure below. The reaction on plane OA will be:­ / नॎचॕ ोदखॊई गई आक॑ोत कॕ अनॏऺॊर एक ग७द दख़ तलख़ ॠ ओए श ओबॎ
पर ॿमषॡ ͚0o और ͛͜o पर ঋश॑त अशĀथॊ म७ ्Āथर ऻॖ. तल ओए पर ঋोतोॿयॊ ऻख़गॎ:­

greater than OB / ओबॎ ऺॕ अोधक

less than OB / ओबॎ ऺॕ कम

equal to that on OB / ओबॎ पर इऺकॕ बरॊबर

will depend on the weight and size of the ball / ग७द कॕ आकर और शजन पर ोनभ१र ऻख़गॊ

Correct Answer :­greater than OB / ओबॎ ऺॕ अोधक 



84)

Question Stimulus :­

Mechanical

Every atom consists of electrons, protons and neutrons except _______. / ঋĀॕक अणॏ म७ इलॕঠ३ ख़न, ঋख़टख़न
और ोनरॊशॕषॊणॏ (ကॏट३ ॗन) नॎोऻत ऻख़तॊ ऻॖ _______ कख़ छख़ीकर.

Ordinary hydrogen atom / ऺॊधॊरण ऻॊइड३ ख़जन अणॏ

boron atom / बख़रख़न अणॏ

helium atom / ऻॎोलयम अणॏ

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­Ordinary hydrogen atom / ऺॊधॊरण ऻॊइड३ ख़जन अणॏ 

85)

Question Stimulus :­

Mechanical

A glass tube of 3 mm diameter is immersed in water which is at 20°C. The surface tension for water
is 0.0736 N/m. The contact angle for water is 0°. How much will be the capillary rise or depression?
/ ͚ एमएम ကॊऺ शॊलॕ ৕ॊऺ Āॐब कख़ ͙͗°C तॊपमॊन शॊलॕ पॊनॎ म७ डॏबख़ ोदयॊ जॊतॊ ऻॖ. पॊनॎ कॕ ोलए ऺतऻ तनॊश ͗.͚͗͞͝ एन/एम ऻॖ.
पॊनॎ कॕ ोलए  ॠऺपक१  कख़ण 0° ऻॖ. ोकतनॎ कॕोषकॊ श्॑Ā यॊ घटॊश ऻख़गॊ?

20 mm / ͙͗एमएम

10 mm / ͗͘ एमएम



0.492 cm / ͗.͙͛͠ ऺॕ.मॎ.

0.56 cm / ͗.͜͝ ऺॕ.मॎ.

Correct Answer :­10 mm / ͗͘ एमएम 

86)

Question Stimulus :­

Mechanical

Which metal is not suitable for impact extrusion / बॊĀ ঋभॊश कॕ ोलए कग़न ऺॎ धॊतॏ उपयॏঢ नऻॎ ॠ ऻॖ?

Alloys of Zn and Sn / ोजॠक श एऺएन.कॊ ोम঒ण

Stainless steel / जॠग रोऻत इĀॊत

Low carbon annealed steel  / ोनĀ कॊब१न अनॎĀ (तॊशयॏঢ) इĀॊत

Alloys of Al and lead / एआई श ऺॎऺॊ कॊ ोम঒ण

Correct Answer :­Stainless steel / जॠग रोऻत इĀॊत 

87)

Question Stimulus :­

Mechanical

The main alloying elements in high speed steel are:­ / उৡ गोत शॊलॎ इĀॊत म७ मॏূ ोम঒ॊतॏ तက ऻख़तॊ ऻॖ:­

Vanadium, chromium, tungsten / शनॕोडयम, ॿख़ोमयम, चॠडॊतॏ (टॠगĀन)

Tungsten, chromium, titanium / चॠडॊतॏ (टॠगĀन), ॿख़ोमयम, टॊइटॕोनयम



Tungsten, titanium, vanadium / चॠडॊतॏ (टॠगĀन), टॊइटॕोनयम, शनॕोडयम

Chromium, titanium, vanadium / ॿख़ोमयम, टॊइटॕोनयम, शनॕोडयम

Correct Answer :­Vanadium, chromium, tungsten / शनॕोडयम, ॿख़ोमयम, चॠडॊतॏ (टॠगĀन) 

88)

Question Stimulus :­

Mechanical

Which of the following drives permit high velocity ratio? / ोनĀ म७ कग़न ऺॊ चॊलक (ड३ ॊइĀऺ) उৡ शॕग अनॏपॊत कॎ
अनॏमोत दॕतॊ ऻॖ?

Chain drives / ঒ॠखलॊ चॊलक

Rope drives / रĀॎ चॊलक

Pulleys / ोघरनॎ (पॏलॕ)

Belt drives / पĀॊ चॊलक

Correct Answer :­Chain drives / ঒ॠखलॊ चॊलक 

89)

Question Stimulus :­

Mechanical

The lathe bed is generally constructed of which of the following materials? / खरॊद कॊ पलॠग ोनĀ म७ ऺॕ
ोकऺ ऺॊमঁॎ ऺॕ बनॊ ऻख़तॊ ऻॖ?

Alloy steel / ोमो঒त इĀॊत



Mild steel / नरम इĀॊत

Low carbon steel / ोनĀ कॊब१न इĀॊत

Cast iron / कৡॊ लख़ऻॊ

Correct Answer :­Cast iron / कৡॊ लख़ऻॊ 

90)

Question Stimulus :­

Mechanical

The suction pipe diameter of refrigerating unit compressor in comparison to delivery side is:­ /
अॠतरण प঴ कॎ तॏलनॊ म७ ঋषॎतन इकॊई  ॠऺपॎीक कॕ चॐहक पॊइप कॊ ကॊऺ ऻख़तॊ ऻॖ|

bigger / बीॊ

smaller / छख़टॊ

equal / ऺमॊन

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­bigger / बीॊ 

91)

Question Stimulus :­

Mechanical

The speed of sound in an ideal gas varies directly as it’s:­ / ोकऺॎ आदष१ गॖऺ म७ Āोन कॎ गोत ऺॎधॕ ोनĀ ॺप म७
बदल जॊतॎ ऻॖ:­



pressure / दबॊश

temperature / तॊपमॊन

density / घनက

absolute temperature / अनपॕ঴ तॊपमॊन

Correct Answer :­absolute temperature / अनपॕ঴ तॊपमॊन 

92)

Question Stimulus :­

Mechanical

An operation, in which flat surfaces are produced by the milling cutters which are mounted with the
axes perpendicular to the milling surfaces, is referred to as / कॊय१ म७ कग़न ऺॎ ऺमतल ऺॊथ पॕहण कटर ကॊरॊ
बनतॎ ऻॖ जख़ पॕहण कॎ ऺतऻ पर लĀशत कॏ ठॊर कॕ ऺॊथ आॺु ऻॖ, कॊ  ॠऺबॠध ऻॖ

Slab milling / खॠड पॕहण

Slot milling / खॊॠचॊ पॕहण

Face milling    / तल पॕहण

Form milling / फॗम१ पॕहण

Correct Answer :­Face milling    / तल पॕहण 

93)

Question Stimulus :­



Mechanical

The increase in pressure of a liquid / तरल म७ दबॊश कॎ श्॑Ā,

lowers the boiling point of a liquid / तरल कॕ রथनॊॠक ोबॠदॏ कख़ कम करतॊ ऻॖ

raises the boiling point of a liquid / तरल कॕ রथनॊॠक ोबॠदॏ कख़ बुॊतॊ ऻॖ

does not affect the boiling point of a liquid / तरल कॕ রथनॊॠक ोबॠदॏ पर अऺर नऻॎ ॠ डॊलतॊ

reduces its volume / इऺकॕ आयतन कख़ घटॊतॊ ऻॖ

Correct Answer :­raises the boiling point of a liquid / तरल कॕ রथनॊॠक ोबॠदॏ कख़ बुॊतॊ ऻॖ 

94)

Question Stimulus :­

Mechanical

An adiabatic process is one in which: / ऺमख़Ā ঋोॿयॊ ोनĀ म७ ऺॕ एक ऻख़तॎ ऻॖ:

the temperature of the gas changes / गॖऺ कॊ तॊपमॊन पौरशोत१त ऻख़तॊ ऻॖ

no heat enters or leaves the gas / ोकऺॎ ঋकॊर कॎ ऊĀॊ ঋशॕष नऻॎ ॠ करतॎ यॊ गॖऺ नऻॎ ॠ छख़ीतॎ

the change in internal energy is equal to the mechanical work done / आॠतौरक ऊजॊ१ कॊ
बदलॊश ोकयॕ गए यॊॠोআक कॊय१ कॕ बरॊबर ऻख़तॊ ऻॖ

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

95)



Question Stimulus :­

Mechanical

How many degrees of freedom does a revolute or a hinge joint have? / Āछॠदतॊ कॎ ोकतनॎ ोडঁॎ पर कॊज
जख़ी यॊ कख़रकॏॠ ोचत ঋॊĀ ऻख़तॊ ऻॖ?

Zero / षॐက

One / एक

Two / दख़

Three / तॎन

Correct Answer :­One / एक 

96)

Question Stimulus :­

Mechanical

Neutral plane of a beam:­ / ोकरण पॏॠज कॎ तटĀथ ऺतऻ:­

is fictitious / क्Āत ऻख़तॎ ऻॖ

Is one whose length remains unchanged during deformation  /  शऻ ोजऺकॎ लĀॊई ोशकरण
कॕ दग़रॊन अपौरशोत१त रऻतॎ ऻॖ

Is in the middle / मĀ म७ ऻॖ

Passes through the centre of gravity / गॏॹကॊकह१ण कॕ क७ ঈ ऺॕ ऻख़कर गॏजरतॊ ऻॖ



Correct Answer :­Is one whose length remains unchanged during deformation  /  शऻ ोजऺकॎ लĀॊई
ोशकरण कॕ दग़रॊन अपौरशोत१त रऻतॎ ऻॖ 

97)

Question Stimulus :­

Mechanical

In offset slider crank mechanism, the ratio of the working stroke time to the return stroke time is /
ॿ॰ क मषॎनरॎ ऑफऺॕट ကॊइडर म७ शॊपऺॎ आघॊत ऺमय कॕ ोलए कॊय१षॎल आघॊत ऺमय कॊ अनॏपॊत ऻॖ

less than 1 / ͘ ऺॕ कम

equal to 1 / ͘ कॕ बरॊबर

more than 1  / ͘ ऺॕ अोधक

no specific range or value / कख़ई ोशोषĀ ঒ॠखलॊ यॊ मॊन नऻॎ ॠ

Correct Answer :­more than 1  / ͘ ऺॕ अोधक 

98)

Question Stimulus :­

Mechanical

The height by which a tooth of a gear projects beyond the standard pitch circle or pitch line is
technically known as:­ / शऻ ऊॠ चॊई ोजऺकॕ ကॊरॊ दĀचॿ कॊ दĀ मॊनक ोपच श॑त यॊ ोपच रॕखॊ कख़ ကঢ ोकयॊ जॊतॊ ऻॖ, उऺॕ
तकनॎकॎ ॺप म७ कऻॊ जॊतॊ ऻॖ|

Addendum / पौरोषĀ

Dedundum / 



Backlash / ঋोत঴ॕप

Pitch radius / ोपच ोআĀॊ

Correct Answer :­Addendum / पौरोषĀ 

99)

Question Stimulus :­

Mechanical

6.0 kJ of conduction heat transfer has to take place in 10 minutes from one end to other end of a
metallic cylinder of 10 cm2 cross sectional area, length 1 metre and thermal conductivity as 100
W/mK. What is the temperature difference between the two ends of the cylindrical bar? / एक धॊतॏ ऺॕ
बनॕ ोऺल७डर ोजऺकॊ आीॊ अनॏभॊगॎय ঴ॕআ ͗͘ cm2, लॠबॊई ͘ मॎटर और थम१ल ঋशॊऻक्က ͗͗͘ डĀॐ/एमकॕ ऻॖ, उऺम७ एक ोऺरॕ ऺॕ दॐ ऺरॕ
ोऺरॕ तक  ͝.͗ कॕजॕ ঋशॊऻकက ऊĀॊ कॕ ऻĀॊॠतरण म७ ͗͘ ोमनट कॊ ऺमय लगतॊ ऻॖ. बॕलनॊकॊर रख़ध कॕ दख़नख़ ॠ ोऺरख़ ॠ कॕ बॎच तॊपमॊन म७ ভॊ
अॠतर ऻॖ?

80°C / ͗͟°C

100°C / ͗͗͘°C

120°C / ͙͗͘°C

160°C / ͗͘͝°C

Correct Answer :­100°C / ͗͗͘°C 

100)

Question Stimulus :­

Mechanical

Design of jigs and fixtures need careful attention to: / नमॐनॊ और जख़ी कॎ  ॠऺरचनॊ पर ोनĀ कॕ ोलए ऺॊशधॊनॎ ऺॕ



Design of jigs and fixtures need careful attention to: / नमॐनॊ और जख़ी कॎ  ॠऺरचनॊ पर ोनĀ कॕ ोलए ऺॊशधॊनॎ ऺॕ
Āॊन दॕनॕ कॎ जॺरत ऻख़तॎ ऻॖ:

Idle time reduction / ोन्Āय ऺमय म७ कमॎ

Design for safety /  ॏऺर঴ॊ कॕ ोलए ोडजॊइन

Swarf clearance / Āॊ १ू  ोनकॊऺॎ

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 


